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SYLLABUS

Paper | - (200 marks)
(1) Current evenis of state, national and nternational importance.
(2) History of India and Indian National Movement with some weightage to Maharashtra
(3) Maharashtra, India and World Geography - Physical, Social, Economic Geography of Maharashtra,
India and the World.
(4) India and Maharashtra - Polity and Governance - Constitution, Political System, Panchayati Raj,
Urban Governance, Public Policy, Rights issues, etc.

(5) Economic and Social Development - Sustainable Development, Poverty, Inclusion, Demographics,
Social Sector imitiatives, ete.
(6) General issues on Environmental Ecology, Bio-diversity and Climate Change - that do not require

subject specialisation.
(7 | General Science.

Paper I1....

Paper 11 - (200 marks)

(1) Comprehension

(2) Interpersonal skills including communication skills.

(3) Logical reasoning and analytical ability.

(4) Decision - making and problem - solving.

(5) General mental ability.

(6] Basic numeracy (numbers and their relations, orders of magmtude, etc.) (Class X level), Data
interpretation (Charts, graphs, tables, data sufficiency etc.- Class X level)

(7) Marathi and English Language Comprehension skills (Class X/X11 level)

Note 1 : Questions relating to Marathi and English Language Comprehension skill of Class X/XI1 level (last
item 1n the Syllabus of Paper 1) will be tested through passages from Marathi and English language
without providing cross translation thereof in the question paper.

Note 2 : The questions will be of multiple choice, objective type.

Note 3 : It 1s mandatory for the candidate to appear in both the Papers of Maharashtra Civil Services Gazetted
(Prelim) Examination for the purpose of evaluation. Therefore a candidate will not be considered for
evaluation in case he / she does not appear in both the papers of Maharashtra Civil Services
Gazetted (Prelim) Examination.

Date :- 7" December, 2022 Secretary,

Maharashtra Public Service Commission
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State Services Preliminary Examination

Topics & Subtopics of the Syllabus
Preparation & Guidance

MPSC has notified 14 topics for the State Services Preliminary examination.

1) History of India and Indian National Movement (15)
2)  Mabharashtra, India and World Geography (15)
3) Maharashtra and India - Indian Polity and Governance (15)
4)  Economic and Social development (15)
5) Environmental Ecology, Bio-diversity & Climate Change (10)
6) General Science (15)
7)  Current Events of State, National and International Importance (15)
SSP Examination Paper 11
Qs asked on vaious topics and subtopics

Topics & Subtopics 2013 2014 2015 2016 2017 2018 2019 2021 2022 2023
1) Comprehension 41 37 35 35 35 40 40 40 40 40
2) Interpersonal & communication skills - - - - - - - - - -
3) Logical Reasoning & Analytical Ability 6 10 8 7 9 10 10 10 9 11
4) Decesion making and Problem solving 7 S S S 5 5 5 5 5 5
5) General Mental Ability 6 13 9 10 4 5 5 5 7 6
6) Basic Numerical Ability 8§ 2 & 8 12 10 10 10 9 8
7) Language Comprehension 12 13 15 15 15 10 15 10 10 10

Total 8 8 8 8 8 8 8 80 &0 80
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i) 900 T SIBIT ST SFBAT 40%, IRY0 TIT GADIT 0% 30T 000 T GBI 30%
CERUEHT HHT YHRTIER & &3 2. T ATRACIHRYT, AR TSI alee 3MTg, 31ferd R I 37Ted,
ATl Yg qiee! 3MTg, Temies IRHATE! YdTE BHI STl 3TTe. Io1es PHI $1e 3718 TR GoPIcd TG
3.

ii) 3rfeemIiIch Sl TR M7 TR FASTART 81 3T, FISYSTAT! HReT ared 31g 3Mfor gRome
SRETHAT IOT BIHAEIT AGH! 3R,

iii) &7 eI THIOG dTe,

iv) 3lENflies PHeRT a TGpdT JHIUTT dTa.

V) UGS JTfOT SrERIRGS! He ¥gd SO hicdh-1erdhiedl Hdemed dre.

vi) SHA1eH SYHTRT aTRTeAT I SRHe dIATERUIT Bhle- S 1SS, Fex S JAdTgs AT Ia”
3 g ITIOT AR foRAesa 3MTed SATHe 3 YT, 3MSI-dl A, ST digHT aT1e 3Ifr
IRIR Yhgch gaME A0 8l STl
BRI B, YOI dTh 30T B SR SIATSS Job Bid Bexl S fAfhRUM=T aTeR Soar
gfiey Ral. e FHLMTIST R ISR R JIefAuarTe! gRayerdT aTuR e STl
ERTRIcHes ISV Uep TIRT feberT <Te SHfeieh epicd IUTIBINCT Ueh chosedd] PR HTclles TRTRIRE T
3RA. AT e Yosgeh / 9T / &M B Mt IR g,

Read the following passage and answer the questions 1 to 5.
“Global Environmental Changes”

Human population has been growing rapidly. It has crossed 6 billion mark in 1999. Per capita
consumption of resources has increased to many times (e.g. 25 litres of fresh water to 250 litres/day).
This has strained in life supporting system of earth and brought about a number of environmental changes
on a global scale.

1) Forest cover of the world was 50% of land area in the decade of 1900, 40% of land in the
decade of 1950s and less than 30% in the decade of 2000. It has resulted in increased
desertification, irregular rainfall, more floods, increased soil erosion, loss of perrenial flow
in rivers, reduced ground water and therefore, increased drought.

11) More and more people are migrating to towns and cities. There is rise in the number of slums
and consequently, an increase in filth and pollution.

111) Increase in quantity of solid wastes.

1v) Rise in industrial wastes and pollutants.

v) Increased passage of fertilizers and pesticides in water bodies and food chains.

vi) High rate of consumption of fossil fuels is adding CO,, SO, and a number of other gases and
chemicals into the atmosphere causing acid rain, ozone depletion, global warming and frequent
foggy weather.

Green House Effect is a warming effect found in a green house by allowing solar radiations to
pass in, but preventing long wave heat radiations to pass out due to glass panes, water vapours and
carbon dioxide. Because of it, green houses are used for growing tropical plants in temperate areas.
Green house warm up is similar to the inside of a car parked in the sun for an hour or so. Dusty /humid/
cloudy nights are warmer due to this phenomenon.
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SHTHER 2000 T SAHIT YHIER fahelt Sies ammemer g 2

9) 40% V& SR R) §0% Vsl ST 3) Wh 30% ¥) 30% Y& T
How much forest cover of the world was of land area in decade of 2000 ?

1) More than 50% 2) More than 60% 3) 30% only 4) Less than 30 %
9R]R |AS! HE! BT fopeil Biel ?

9) ¥ 3e Q) Y I 3) & 3TeST 8) 3 3fesT

How much was the human population in 1999 ?

1) 4 billion 2) 5 billion 3) 6 billion 4) 3 billion
SIS ST gRIHS HIUT Hhe IGHId 3Med 2

A) AP WSREE B) YOS A6 3R C) TTacIpRT D) bles aTeeT 3R
RIS Pl e /AU sRIsR 3fed ?

9) A ®h A, CanforD 3) A 37for B %eh %) A, B amforD
Deforestation in the world has resulted in which calamities ?

A) Irregular rainfall B) Increased ground water

C) Desertification D) Increased drought

Which of the statement given above is/are correct ?

1) Aonly 2)A,Cand D 3) Aand B only 4)A,Band D
SHleTed SYUHFeAT dTuRTed] I SR DI gscrﬁftrrrq NINCEI I

A) IS I B) 3NeF=T BN

C) ¥ gaH™ D) aRaR Yhgch MM

RIS drord - [ /U™ RieR smgd ?

9) A Hh ) A 3Tt B %eh 3)A, B anforD $) A, B amfor C
High rate of consumption of fossil fuel resulted in which effects ?

A) Acid rain B) Ozone depletion

C) Clean weather D) Frequent foggy weather

Which of the statement given above is/are correct ?

1) Aonly 2) A and B only 3)A,Band D 4)A,BandC

gReTE IR TBUt BRF ? ATOH ICBRT DIVl HROT IRUTHGRES MMed 2

A) g ERATEHE ARIABRUNCHI R G SMGHUIRT Udh dgHHdle THTd 37T8.

B) ERATENG IS0 U O SIUBILN UTch hosed] DR SATciics TRTARE! ST,

C) smefiarsur qATg Isurbieaef g aTefauaTIeT gRATERT AR dheT STl

D) gRayg uRumiges I IeeR gldrd.

RGB! PO faem /fRum SRR amed 2

9) A %h Q) A 3o B %eh 3) A, B aforD ¥) A, B, C anforD
What is green house effect ? And what are the reasons for climate change ?

A) Itis warming effect found in green house by allowing solar radiation to pass in.

B) Green house warm up is similar to the inside of car parked in the sun for an hour.

C) Green houses are used for growing tropical plants in temperate areas.

D) Green house effects causes warmer nights.

Which of the statement given is/are correct ?

1) Aonly 2) A and B only 3)A,Band D 4)A,B,Cand D
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WIS SART AT T. . & o ¥. 3. 90 A IR .
TaTes i aTeIarat
23 3l AT T Y 37T AT I AUHM ATaTD ATg. [P TaH ¢ 3ier Afeaa=ra

XIS! ST BT 1. AT AT ATOHHTeA JATa9dehd Gobdl FelTes iceprdl dT6 2l ARR FETeTaRET & 30 3191
SR T 30 3791 SR0T SfegTTT S SWBICTLRT avaT HIfST STe! 3Te. T Wbl fafduar S=
&G AYGIT GAR 30 372 ST d 30 A9 ST T BT Bl STl AT TTeaT STIRepS ST SR0RT Srefreoral!
a1e I el JATY IS ATV IR UTUITeAT FaTeld STERUR FaTes AT FRMTST 3arg Med. Haresid
AT STR heieh=uT f[yagToaes Jewsd, S ANRSIGH I Jaid SR 3. FERITRIAT G4 fhr=amar
(“eUrord HEIfeUTeT UfeeH fohramer) I ST TaTesied] gl IR STSURT FgUSl auie fohHT
HRTRATST A¢ 39T AT Y&l HHl TIHARIE U UTudrel IR SRI0 & 8.

U 9, UM JIRATIAT SR Phelcs e Jd1es Wedbid! sudiarede Mt T UiieieR ARR
STBTE FLAae - AT IGHa. TR T3 ToA Tl a1e SeIdhelds UR! JrImes U8 U SLaag
I UaTe Phichidl a6 Yo 3. AMNed fhiameris Pl HiHed Sl Stddgd gl

Ui STRET ST STehTETd STRATT ITeAT Fdl HaTes e dTaiciics twdh AT aldl. Pad axies afia
STRATTT FTRPBSIS AR feaTesdTe aTgun=T U aRied qI=Ires T &1 dI9HM 94 39T Afeaa=T anfor deft
Feft 93.2 37 Aicwd wd S g, 99 METT WA S @l gld deids Hals ARRIhgH el
HERINRIGS g AVTAT Je JTeeesde IS0 HRRI FeTgres FdTes hiceprd] a6 gld. AN Targredr (Teth
) IoTT SIS ATEUTAT HaTgs ST ST Ss0r arof} fifesc TR ST STarit Seiedl S aRRITeRIT Is0T
YaEe  HaIsied] il 3ge IR FHfr sTedl ae. SIRGIreaT A HAlldhg aTed VIR
fospfa wrarg URifthep HERITRIS [gageiiar IS JaTglesT d1ed AU ST Ufeed foerarea gfern
Ydia HRTIHS g STl T gea- disileay Al Halesgly sudrarene fRudid fFHiur siese a1z,

Read the following passage and answer the questions 6 to 10.
“Coral Reef Ecosystem”

Coral require temperatures between 23°C to 25°C for their growth. The minimum temperature
must not go below 18°C. This temperature requirement restricts their growth to tropical waters between
30° N and 30° S latitudes away from cold water currents. The diversity of coral reefs decrease in
higher latitudes to about 30° N and 30° 8 latitudes. North or South of this zone, coral growth does not
occur. However, corals lying in the path of northward moving warm water are an exception to this rule.
The largest concentration occurs near the equator where water temperatures are highest. The main
obstacle to coral growth in low latitudes along the east coast = of oceans (west coast of continents) is
the presence of cool water with a temperature lower than 18°C for at least part of the year.

The exceptional occurrence of small reefs on the north eastern side of the pearl islands, Gulf of
Panama results from a local absence of upwelling, whereas on the South western side coral growth is
inhibited by cool upwelling caused by north easterly trade winds. Coral growth is locally hindered by
summer cool upwelling in parts of the Somalian coast.

Between the Persian Gulf and the Gulf of Agaba the difference in coral growth is due to the
Shamal, a cold north westerly wind blowing in winter over the northern part of the Persian Gulf so that
temperature in that area is lowered to 15°C and sometimes to even 13.2°C on the Kuwait reefs. At high
latitudes, such as Lord Howe Island, reef growth results from the East Australian warm current which
flows from the coral sea to the Southern ocean; the Bermuda receive warm water flowing along the
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right hand side of the Gulf stream (19°C to 27°C); Southern Japanese Islands are favoured by the warm
Kuroshio current (20°C - 28°C). The exceptional occurrence of Houtman’s Abrolhas, western Australia
results from Leeuwin current which flows pole wards along this coast and carries warm equatorial

pacific water around north nwest Australia.

)

6)

7)

<)

8)

R)

9)

WTetes Yhl pIorclt qoHHTE R TaTes dHieaiedr aerTd! 31t Sgs s™d ?

9) TOEE 90°F T 3° I A Q) AT 3°W A Y W REN

3) 99 YA T 30° F N ®) A 0°F T 90° | I

Which of the following temperature conditions is the most favourable for the growth of coral ?
1) Temperatures between 10°C to 23°C 2) Temperatures between 23°C to 25°C

3) Temperatures between 25°C to 30°C 4) Temperatures between 0°C to 10°C

YT ufeay fraTeTa vaTe Wedhid! it sea! T aa ATel SR
q) @GereaT ufeem fAaTeTa offa vaTg argd ST S

R) 3T g Y ANRI AR Hals Gedbred i sreeres i .
3) ST UfeeH fhTrITIRIy fAyadiia ST Harg argdl.

%) i Uhr T

Along the west coast of continents coral reef formations are not observed because

1) Prevalence of cool ocean currents flowing along the west coast of continents
2) The north-east and south-east trade winds create obstacles in the coral formation
3) The equatorial warm current starts from the western coast of the continents

4) None of the above

SIS Wie Udhl DIoRIT YT Ydies Wedhid! sfuargede IR Hfid sde! ame ?
37) SIS @ I 9) gcAA aisieEr 3) iR/ 3mard 8) MR fhaRT
Tt SR

q9) %k 31 MMfOT Q) Teh § 3N & 3) Weh 30T & ¥) Theh & 3T S
Which of the following are the exceptional occurrences of coral reefs in the world ?

a) Lord Howe Island  b) Houtman’s Abrolhas c) Gulf of Guinea d) Somalian coast
Answer options :

1)Onlyaandb 2)Only bandc 3)Onlyaandc 4)Only candd

SIS PIOTIT WA YdTed ehid he [hvul Jaifdih 3 ?
q) fagageia amrt s Q) AT AR AT

3) anface FTITeT AFRT HHT ¥) qHMAIST Bfeaefa IRy wmnd
In which part of the world the largest concentration of coral reef occurs ?

1) Near the equatorial waters 2) Near the tropic of cancer

3) Near the Arctic circle 4) In the temperate region

90) WIS Uh! DIV TCH TS DICHIAT AIBI DRI 37T ?

9) AR SIS 3reNag Q) UFR ST Sedag
3) IR ISR dYdTg 8) SHRARITGS HaTg
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10) Which of the following factor is responsible for low coral growth ?
1) Downwelling of sea water 2) Upwelling of sea water
3) Under current of sea water 4) Thermohaline current

Read the following passage carefully and answer the Q. No. 11 to Q. No. 15.

On top of nuclear war, in the coming decades humankind will face a new existential threat that
hardly registered on the political radars in 1964 : ecological collapse. Humans are destabilising the
global biosphere on multiple fronts. We are taking more and more resources out of the environment,
while pumping back into it enormous quantities of waste and poison, thereby changing the composition
of the soil, the water and the atmosphere.

We are hardly even aware of the myriad ways in which we disrupt the delicate ecological balance
that has been shaped over millions of years. Consider, for example, the use of phosphorus as a fertiliser.
In small quantities it is an essential nutrient for the growth of plants. But in excessive amounts it
becomes toxic. Modern industrial farming is based on artificially fertilising the fields with plenty of
phosphorus, but the high-phosphorus run-off from the farms subsequently poisons rivers, lakes and
oceans, with a devastating impact on marine life. A farmer growing corn in lowa might thus inadvertently
kill fish in the Gulf of Mexico.

As aresult of such activities, habitats are degraded, animals and plants are becoming extinct, and
entire ecosystems such as the Australian Great Barrier Reef and the Amazon rainforest might be
destroyed. For thousands of years Homo sapiens behaved as an ecological serial killer; now it is morphing
into an ecological mass murderer. If we continue with our present course it will cause not just the
annihilation of a large percentage of all life forms, but it might also sap the foundations of human
civilisation.

Most threatening of all is the prospect of climate change. Humans have been around for hundreds
of thousands of years, and have survived numerous ice ages and warm spells. However, agriculture,
cities and complex societies have existed for no more than 10,000 years. During this period, known as
the Helocene, Earth’s climate has been relatively stable. Any deviation from Holocene standards will
present human societies with enormous challenges they never encountered before. It will be like
conducting an open-ended experiment on billions of human guinea pigs. Even if human civilisation
eventually adapts to the new conditions, who knows how many victims might perish in the process of

adaptation.

11) Which threat was not recofnized by global politicians during the second half of the 20" Century?
1) Nuclear war threat 2) Ecological destruction
3) Threat of degradation of human life 4) None of he above

12) What is the reason of destructive effects on sea life, according to the passage ?
1) Use of artificial nutrients
2) Over use of natural resources
3) Excessive use of phosphorus in farming that gets washed into sea, rivers and make
them toxic.
4) Nuclear Testing
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Which of the following statements are true in the context of the given passage ?

a) Human beings fully know that they are causing ecological imbalance

b) During Holocene period, climate was stable

¢) Modern industrial farming is based on overuse of phosphorus

d) Amazon rain forest will not get destroyed irrespective of man’s disruptive activities.
Answer Options :

l)aandb 2)bandd 3)bandc 4) only b
Match the following.
A B

a) exist I) be faced with
b) enormous IT) large number of something
¢) encounter IIT) ncomplete destruction
d) annihilation IV) survive
e) myriad V) extremely large
Answer Options :

a b ¢ d e
) oI I m v Vv
2) I o I I\
3) Iv VvV I 1InmIn
4) 1 m v I Vv

Choose the most appropriate option :

Modern man has turned into ............. , according to the writer.
1) guinea pig to do experiment on

2) an ecological mass murderer

3) an ecological serial killer

4) both an ecological serial killer and mass murderer
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99) FAHATE!, ISAUG T HERTSH /9
92) RITBRY ST [HasYenT

93) YRarEl FFErT

98)  TIRTT

94) A gRfawaSD qret /9

9¢) PrIG, 177 SO ST

WTehtes SRT AT 0. 56. 9 7 . 36. 4 ot fiear meaid s .

Ro¢ AEfes M fag TR fCufiHR greeer: w9 FeRfuiy SR TR 37 Hd
SHTET 1. T I ra 31} Frei= feham Rl STeora Fagemfe ST Tguld ey 37T J1fdeT; St egostor
AR FEUST SCRRTFT IoTepRUTT AT 3RTS vt Jefies < '/ Tgurel YR S11oT &7 ieufd waRTo Fguret T§
R ARG T, 7, feg SRSaMe fFeas M1 A1geivast! dhios ATee aerd heeh U R, AR
ST AaoT HehdT AT d1fge! gl Mefi=ar HamvHTT Ui Wemmar '/Ferisd’ fhar IeriemRi SUHNTRR
B ; SN fesaidl RIgIoiT /TR~y 8 HIST SFHRIE 88 31Tg 7101 af 1t fissauRg’’ f@e TRAYR TeRTsar
BT TR ORI MUTHT 1T foReya, drfeeren 31 o, f2g TerTSt adies HIsaTd Faf=oig |vs eoart ugd
AT BIch. T, AT UG U AR YT AIdepTyHIvrg e die BhlsuRd, Tefiean wad. <1 Rigidra
3fcAia faRIENYRT STTed STl QAT IaeRIe Plal IRFIT S e Je 3. Meiean Wisasee!,
STTeaReel 3N enfifes g Ao HaTes URUaRSAT Slehi=T IRfdd Ur 37T, Miefid FaRTorea faaRiea
oI UGl STUCT BRI BIheITa! ShiciedT JAaaRT! Goarirdl ST FgUd STINTE ATe ; U ITg qreara
UISYRTAT s Tebell SO TIeTciepred CfcigliRics SFIdic FaRroTar 37 Held el Bl DUl AAHED
GIIT T fAep R 2t AT, & UTg Qe

"I R S AT ARG Sed RS aiie AT B, A M Aresare—
SFacIwld deRe gfa=ie F9l SeuTsT fod Mol Tardles Sicid e dianiel | ARTRT SIhere T Bal
e N, T AdHeR 3T SREfRd dre JredT GehdTcreaT SauT 3T YRR SHETdiE e,
STIfcrarTer febam gfesel AT BeserdT STl e FeRTSTes] YR 15T HIishH Tfachel Heded T fiesres 3172,
TSt gRe HedT STRRES], 3TdedRdl Sfosd ehl JIRRGST MMM AT Slardl Jaw Uha Hod
STREVTRATS! ARDPRA [Fd3es YR AT FHBIH R AHTD IReIT SR Tep ATef=aqul rarg
STIVET. T ST MUST G hosed Bl {18107 HRIGHIIRIT RIS TR dHed-a S ST, Ted]
I SEMRPTA HRT T AT Tdaed R SlpTaiaRed] HIsgiql Fal S Gl fom Mt sreur-seu,
G Dol. FHNING ATl 37elld Favared] JRIdl Ugdial gade! 3. AHDPR Biara Rigid 2
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Read the following passage and answer the Q. No. 1 to Q. No. 5.

After Gandhi’s comment on Hind Swaraj in 1908, the meaning of self-rule and self-determination
continued and clarified. Once it was meant as independence or self governed country of the Indian
people as a developed country; If many people understand India to be an international government, here
‘self” means India and in this context, Swaraj means independence of India as a nation. In the Hind
Swaraj, the difference is not expected only Kale Saheb instead of Gore Saheb. Gandhi would have seen
the all-round emancipation of the Indian people. According to Gandhi’s opinion, every village would
have to enjoy Swaraj or self-government; Though the roar of Lokmanya Tilak ‘Swaraj is my birthright
and T will got it,” spread the concept of Swaraj all over India. But Gandhi gave it a detailed, philosophic
meaning. The method of understanding self-determination was interpreted in the Hind Swaraj. However,
each use of this method starts a discussion like the earlier century. There were many contradictions
within Gandhi’s own theory and in some incidents of his behavior led to many objections. Gandhi’s soft
policy on criticisms of capitalism, caste system and religious practices were based on reality. Gandhi’s
base method of thoughts of Swaraj was useful the beginning line for the rethinking of democratic
revolution; we can follow this statement and the experience of last century the meaning of Swaraj has
evolved into an all-inclusive freedom which is continuously making new orbit.

In the agricultural struggle ‘Kasel Tyachi Zameen’ Swaraj got classified measurements. Here the
full rainbow of ideologies from Gandhian to Marxist-Leninist is visible and the differences within
each! The struggle of Indian democracy still discusses on the freedom of the landless, poor farm
worker and unorganized workers and policies of it. Swaraj of the outcaste or Dalit and low-caste got
central position in Indian political programme. Gandhiji’s Harijan Welfare Plan, Ambedkar’s Dalit
Mukti Plan and combining the basic elements of both with the government’s policy of reservation has
brought another innovative flow in the social transformation of contemporary India. The Swaraj concept
for women was originated from the women’s education programme started in freedom movement by
Gandhiji. In the last three decades, the Indian women’s movement has given a new height to the
commentary on Indian democracy. It exposed the patriarchal dimensions of social structure, culture
and the day today behaviour. Apart from this, the new principle of dominance and liberty was to formulated.
So far, the methods of the unknown dominant ways the society have been suggested. In this way, a
feminist theorv would be a social theory. It is not only the analysing patriarchal system and does not
fight against the state. It analyses all types of dominance and searches freedom 1n all fields.

9) TR T HAheUd TS IBUh! DIl Tl FHAY Bl ?

37) TR e gl .

) TP A TR SAFHAUL.

P) PP fewml TR & bl HRAMR RIS

g) mgreHT Mt T aReg’ g Adheun o1t faRgd do.

i SR :

q9) %k 31 3MMfOT g Q) Bh § IMT 8 3) Beh 9, B IAMIS  8) 31,9,P 0T
1)  Which of the following factor/s are included in the concept of ‘Swaraj ?

A) Method of understanding self-determination.

B) Every village should experience self-government.

C) Lokmanya Tilak spread the concept of ‘Swaraj’ all over the India.

D) Mahatma Gandhi elaborated the concept of ‘Swaraj’.

Answer Options :

1) Only A and B 2) Only Band D 3) Only B, Cand D 4)A, B,CandD
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VRIS HheTT WISIAUD! HATYT i GRAT STHST/SHS ?

37) Herer mefisiar 'gRSE dea IIRMGS! . §) e A SHF . deuldie Bel.

&) Sl APSIR I 'Gfosd Teh! SIRREST . T) URART SIBIATET .

i SR :

9) eh § 30T & A FHHA 3) eh 37 31T & $) Heh §, & M1 §
In which of the following categories did the ‘Swaraj’ concept get classified measurements ?
A) Mahatma Gandhi’s ‘Harijan Welfare Plan’.  B) Struggle for ‘Kasel Tyachi Zameen’.

C) Dr. Ambedkar’s ‘Dalit Mukti Plan’. D) Struggle of Indian Democracy.

Answer Options :

1) OnlyB and C 2) Only B 3)OnlyA and C 4) Only B, Cand D
NRATT ITHT BRIGT IHdhd WHGUDh! BT TehiqT Hedad! ¥ fAses Mg ?

37) RS BT TRIGST ) Sfosd Iehl SIRIEE

&) STIfcrTar fobam Sfoscid SRS ) TSN S RS

it SR :

9) Seh 37 MU & ) %h § IMUT 8 3) 31,9, HIMIs ¥) Wheh 31, § 3701 &
Which of the following factor/s has got central position in the political programme of the India ?
A) Harijan Welfare Plan B) Dalit Mukti Plan

C) Swaraj of outcaste and Dalits D) Swaraj of lower castes

Answer options :

1) Only Aand C 2)Only Band D 3)A,B,CandD 4)Only A,Band C

WIAIGUD! PIVIAT TedhiFl YRR BHATE! 31 U St ?

37) S Tsas ) FMETTs IRac-ars dosas
%) AHISTD Tosacs 8) INufed &AIH® HHR TBacs
g SR :

q) 31, ¥, 3fUrs ) Beh I, MU B 3) Beh &, H MU S Q) Teh 3T, P AN
In which of the following factor/s did the Indian Democracy become more widespread ?

A) Feminist Movement B) Social Reformist Movement

C) Agricultural Movement D) Unorganized Sector Workers Movement
Answer options :

DA,B,Cand D 2)OnlyA,Band C 3)Only B,Cand D 4)Only A, Cand D

R IR WISIBUD! TR Tedh 3.

37) TR IRasHe AR Sihgl [GhRid S

) TR Hheud AR ST AN ohdar FHEE gl

P) RS HheUd hass FaIARIATT FHE Bl

) 'TRISY " Hheid hacs FAMURITET FHEeT Bl

iR SR :

9q) 3, B A ) A, A 3) 9, 5 8) B, T AN
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5) ‘Inrespectof ‘Swaraj’ concept identify the correct factors among the following.
A) Due to ‘Swaraj Movement Indian Democracy Developed.
B) ‘Swaraj’ concept includes all round liberation of the Indian people.
C) Only self-rule includes in the ‘Swaraj’ concept.
D) Only self-determination includes in the Swaraj’ concept.
Answer Options :
1) A, C correct 2) A, B correct 3) B, D correct 4) C, D correct

WIS SART AT T. . & o ¥ 3. 90 A IR &l

TR PIBIA IFRT IRBRA TR, BRI, TORISAT ST Aeifores Faasatt, amfie #ea a I=dia
BT T ST — R A TRBRT URUTET T §93], TOR, PRIG, ARMISeT ST A& daedr,
3N A g IR AT S MR FRDRA SIIATAT AT PIGUITd T g0l ITes, Sde 3T
SR SIS THRa BIpelTal IFHES HRATT $hHich a-1d XAl 3RI% oR BRI o SRV IIFT SFHTUR
AR UG PRI AT 3R, b el BIDATErE SMURYT deekd ST oG 3Re Blhare!
YRAT STITeIEET BRIA 78D A8l & SNEd 3. ARPR AT HSHid bosed] YA Ia T 3ATeses
SRIT ANTRIGEIT SR fTeume ST ared afe. e s RaTesedn St fRifarT gia stiies forera
THTUTT STl —STIHee SR BHT Blse.

FRUR 3TRId. ST 31 Wold SHiar aaad 3. () SHHER afase FuRe, () 9™
fFradier ufcy, (3) ey arg s, (8) AMIRTS, 6™, d Ulfie STfpRISEd STTi—STiHe het
STIUTRT Y& & (4) STFevl Siiciid Fd47sca.

AT SR ST S aTuTTT dHedT 3 Aehd. FeUTTd IT T STe e SR SR
STfTeaTdt @t AT ATV G, STTTIEAT AR IO SR ET Tl STIfciedaeerd e $Tesos
31TE. Th! DIV ST STHIGBT Act JTaR ferelt ST ST Ao Alel. R Faghd a3 g Tdial
TEIG e 3Te. ATV IS A8cd AAThgT hegrd [gbIad AN 3o 3Me. AT A Mg 3Rl
TSPy PIETIRT ERPA AR DI, STHITIRAT T B! 3Te.

IR aEi T g TIBRT 816 hed 3TTe. HICHTTEAT GRT AT JgUaTe] STeRGwd STl
FRAT AVATARET ATEY. DIORt BIVICT ST FRTAT § SIHITAT SR SIAUITEY STerIeT ST JMfeest ATy, fraor
TR g ANTAGEAT ST QuaTd Jor=aT S1aifores g 3nfies Aaescl e aITee SeRAAG! YR IfihRol
AT T USe 3. & S @Y 3RTes ORI Pral S e RN eI Riehed g0 URiG, T,
g e R 3Te. a8 a1 @ehl aiF e foaRIa o, @1 IRk eaRmRgg giom
ORI T ST T ST TR AR M, Sfegdean Hal DIvicaTal AT I st <
TN BT C3ed AR AgdeR aadd 3R,

Read the following passage and answer the questions 6 to 10 :

In the post-independence period, the national government made the anti-caste campaign a part of
its state policy, through propaganda, laws, educational concessions to backward castes, financial aid
and reserved jobs. The efforts of the national government to destroy the caste system by providing
propaganda, laws, financial assistance to the backward castes and reserved jobs have continued unabated.
When India ranks high among the leading democracies of the world, it cannot be acceptable to
discriminate between people based on birth in a nation that is the cradle of democracy. Since the basic
principles of democracy are against the caste system, it came to pass that the caste system cannot
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continue in democratic India. The efforts made by the government in this regard have been very successful
and the rate of education among the backward castes is increasing. To the extent that the lower castes
become educated, the distance between the castes will dissolve.

We will try to analyze whether the caste system survives in India today or not on the basis of the
following factors. Existence of caste system depends on the following qualifying factors. (1)
Determination of prestige by birth, (2) Prohibition of choice of profession, (3) Prohibition of exogamy,
(4) Discrimination between castes in social, political and religious rights, (5) Superiority of the Brahmin
caste.

The vitality of the castes can be imagined from their existence in the society. Therefore, on the
basis of these five aspects, let us now discuss the existence of the caste system. According to the
scholars of caste system, the caste system has been eradicated. Today, a person’s reputation does not
depend on the caste he is born into. Freedom of choice of occupation has been granted to everyone by
the Constitution itself. The social superiority of Brahmins has always been usurped from them. From
all these things it is not a problem to draw a conclusion that the caste system has almost been destroyed.

Freedom of choice of profession has been granted to everyone by the constitution itself. It is no
longer possible to force the child of the matangas to remain a matanga. It is no longer possible to
decide which occupation one should do according to caste. The spread of education and the educational
and financial concessions given to the backward castes have forced the society to adopt a liberal policy
towards business. Although this is true, some castes prefer to stick to their traditional occupations.
This is also a fact. A person takes two things into consideration while choosing any business, profit
earned and the social status acquired through the business. According to Davies, the prestige of any
social place depends on the importance of the occupation ™ that the place has to offer.

§) WAS TRITD P g d ae ?
q) THIRNTD e ANTIGE] Behied. RISUT=AT aleean JHI0H I FHd FHfor 2o Aed
ENY
Q) YT fAREa WHTST @ 9mead b aw el
3) AR ISTFSAIS aG STT ARIT YR I A HGHT AT BI0IRT Hed aldl.
) BIDHIATED SAMURY Ted SHcraeore g 3R,

6)  Which of the following statements is not true ?
1) Increased level of education among the socially backward sections helps to bring the social
equality
2) A society without discrimination is not a principle of sustainable development
3) Provisions in the Indian Constitution and government policies help to reduce caste
discrimination
4) The basic principle of democracy is against caste system

V) WSIEYD! DU UM aRIER 3R 7
31) MG AYgdT T90 g URATAT fAhRIT S&ur 3R,
§) Mo fasHar wH) FRUIRT IRT SehmEed doeT eifin Rt dew@mar v ARl
&) AR FHST g1 i g Sl AT HHARYER ST 31, AT AR TSI ST Sav goigor
e ST ATl
g SR :
9) 31, §, ® )3, § 3)3, & ¥) RIGUDT PIUCEr AT
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Which of the following statements is correct ?

A) Absence of social inequality is a sign of development of India.

B) Educational development among backward elements is not important to hs reduce social
disparity.

C) Indian society stands on the boundaries of class and caste, so the caste system has not been
completely abolished in Indian society.

Answer Options :

HA,B,C 2)A,B 3)A,C 4) None of the above

STTCreIaRe T JFREICaT SRIVIRITG! WG PIud U Jed gl ?

9) STHTT SMYURTER IRIURN! AHTNID UfrsT

Q) SIS dhefed & STfcrea RISt Hgwaran favg a1,

3) AMIRTD, ISThIg STM0T 371Rjeh BRI STeiciic SRIUIRT GardTe

¥) I Fasa Tard=g A9,

Which of the following statement is not true for existence of caste system ?
1) Social status based on birth

2) Doership is an important issue for caste system instead of birth

3) Favoritism towards socio-political and economic authorities

4) Lack of freedom of choice of occupation

LEIGICREISICINCEINGAE

37) Sfcaean 7l DIUATE! ATHTISS AT ST T RIS fGebed FaIRITeT Hg@laR Jaaad
3R

) IR Hae HRAMT 1 AT gIoTRT 312 ATE 31foT e vt i firsT aran
foaR ht = 3R,

i IR :

q) TEGUDI SIvg! fAem™ Fed SRE 37 AU § HROT 37TR.

R) RiBUD! Sl UM AT IR T UM § HRUT ATl

3) foU™ o1 W, 9 9B

g) UM o 9@, § RR

Consider the following statements :

A) According to Davies, the prestige of any social position depends on the importance of the
business assigned to that position.

B) While choosing a business, a person thinks about the financial gain from that business and the
social prestige gained by the business.

Answer Options :

1) Both of the above statements are true and B is the reason for statement A

2) Both of the above statements are true and B is not the reason for statement A

3) Statement A is correct, B is false

4) Statement A is false, B is correct

HERTE ISTAFIT AR AT T JEURI& 0%/ 3¢



For Private Circulation Only

90) WHS PV AU AT 3R ?

19)

37) I e FaRIes S-S meis HeHTa BHT gI0aRT #ed 8.

¥) I FasuarT SeRATaTE eRUET ARy e YR 3nfor aiits — 3nfie ARSI
%) AT T enfifes ufrsT & aarr Fagiar PIvdRl guTE eTehd ATa.

g I :

9) 31, B I, P 3)3, 9 ¥) RIS T

Which of the following statements is true ?

A) Freedom of choice of occupation helps in reducing caste discrimination.

B) Development of the liberal policy of choosing occupations is due to the spread of education
and concessions to the socio-economically backward sections.

C) Social and religious prestige has no influence on career choice.

Answer Options :

DA, C 2)B,C 3)A,B 4) All of the above
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arfefes g Ao fArT (4)
qu) 3IrATEwRT /9
9¢)  STRTIABIBNT, GERIT S0 IR
99) grRITYT GlaEr
20) TRET
29) [A@rT, THE@E 3o FEHIBNT
22) 9t

WIS IART AT TR IMYTRA T. 8. 9 A T. 5. 4 I IR fae.

TS S @ Bifds — 9% FEMRIYe ST TGRS TS ol 3MTeel. T B! goRTe!,
RAS-ARIRA AU, A I ISHIGSH! HEdIE I URUDRR AEHIHD d% ! ATg. AT
ST TS QUITRATS! HRA ARDPRA cIeScld A AR O SR QAT R S G ATUR
T 312, TR AIGAT YAV YR JAUTeR Wisde! Wd aledy HegHadlo A JRTUN AT THE 0 gRaaT
S5 SUR I RIS fOReH Sredior ARRUIRIIG! ffedawl TR &, IR TR @1 3.

SIS SICISITFHI g9 200-39 ALY 3N JEId T SEAFR a9 09— ALY QT IR T
QI IUIGH ].2% T AL, T g TIE Bl DI, PIfds ADSHR Ta A agR augrar I AR
34 fig2iep @ ST oY, SIRI &i3TeRles URUI HIST SAes! -t AT BICaR leed fHTglies JHeie aRums
2030-29 ALY Srfeaveh qut TrREc hedMoRedT IgHATIE SHH! AT 3TTe.

octt SO ey &R PRI FEFIRIET GROMA Faid FH ARSI 3R, T 09— T& 3.8% AL aes
a7l STUe SR, T a1e AT Al FEURT 203039 ALY 3.8% UGGl Bl SIS SIGIIHH, IERT
(RETUTHT AT STUIhT ERoT) TRUT 7o a16 20932 AL 99.¢% 7 BIsa3, St 2020-39 HE 9 TTFRIT UTw!
BIcH. T &TeR, [IRIN: ATl Hueh JUIT=AT &iaR , PRIAT MR Aaifeieh Hicihes TRUTH ST M2, & &
AT ARIP AU ¢.% M dless 1M AU 3718, S AT adf ¢.8% 7 = acl.

ARPR WA Dhosed] TR INGHM® 209-32 T TRHUT STAN W% 7 A6 T IS 3. THd
YR YT e TRAN WA RS RR Hisds Mt HRIMT FemRigdien ifiid et o, av 3ifr
T FRIT STATGIABRT 039-3 AL TE@ #les 3fed. HH QIR AN GURAHES T TRRIERT

Read the following passage and answer the questions from 1 to 5.
State of the Indian Economy

The last two years have been difficult for the world economy on account of theCOVID-19 pandemic.
Repeated waves of infection, supply-chain disruptions andmore recently, inflation have created
particularly challenging times for policy making.Faced with these challenges, the Government of India’s
immediate response was abouquet of safety nets to cushion the impact on vulnerable sections of society
and thebusiness sector. It next pushed through a significant increase in capital expenditure
oninfrastructure to build back medium-term demand as well as aggressively implementedsupply side
measures to prepare the economy for a sustained long-term expansion.

Advance estimates suggest that the Indian economy is expected to witness real GDP expansion of
9.2 per cent in 2021-22 after contraction in it in 2020-21. Thisimplies that overall economic activities
have recovered past the pre-pandemic levels. Almost all indicators show that the economic impact of
the “second wave” in Q1 wasmuch smaller than that experienced during the full lockdown phase in
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2020-21 eventhough the health impact was more severe.

Agriculture and allied sectors have been least impacted by the pandemic andthe sector is expected
to grow by 3.9 per cent in 2021-22 after growing at 3.6 per centin the previous year. Advance estimates
suggest that the GVA of Industry (includingmining and construction) will rise by 11.8 per cent in 2021-
22 after contracting by7 per cent in 2020-21. The service sector has been hit the hardest by the
pandemic;especially segments that involve human contact. This sector is estimated to grow by8.2 per
cent this financial year following last year’s 8.4 per cent contraction.

Total consumption is estimated to have grown by 7 per cent in 2021-22 withsignificant
contributions from government spending. Similarly, Gross Fixed CapitalFormation exceeded pre-
pandemic levels on the back of ramped up public expenditureon infrastructure. Exports of both goods
and services have been exceptionally strongso far in 2021-22, but imports also recovered strongly

with recovery in domestic demand as well as higher international commodity prices.

9)  uRur HfRTHET WISGUd Pt BT de MU IR ?

) AT SR GRIRi Q) TXIGT ~ RSS! 3MSUD
3) HEdTS ¥) e

1)  Which of the following have created challenging times for policy-making ?
1) Repeated waves of infection 2) Supply - chain disruptions
3) Inflation 4) All of the above

) Ifawerst deiweiFale AT FRUGRITS YR ARGRA DIV SUR-T ATl ?
37) FHISIRIIG SRIRIEIT T SO RUR RIS R STIos.

) YR GRUTeRIs Hisae! @aid J1d! JTe.

&) ALIHDIGN HNTUT JIUGER. SATOTOT,

g) GRISI 915] U 3MshHeh SHAGSIUI,

iU AR Taig Feel.

9) %h 3 ) Wh & 3) 3ramforg ¥) 3, §, &% 3T §
2)  Which measures have been implemented by the government of India to prepare the economy for

a sustained long-term expansion ?

A) Bouquet of safety-nets to vulnerable sections of society and business sector.

B) Significant increase in capital expenditure on infrastructure.

C) To build back medium-term demand.

D) Aggressively implemented supply-side measures.

Choose the correct option.
1)Only A 2) Only B 3)Aand B 4)A,B,Cand D

3)  3ITIS, ISR, a9 203029 ALY MM JEIT T SCIFTR, a9 039-3 T QT IR TG
QNI JUTEH R.2%  alee. Il A IR H,
q) |G i FagR G4 USrER A 3R
R) | gl qeifedrad &, o= @icar uieedr fomeidies amfies aRurme A 202039 Hefles gof
CTRSSGIUel BT B,
3) Ul BICHR AR &Rl TR HIoT gl
8) (9) 3for ()
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Advance estimates suggest that the Indian economy is expected to witness real GDP expansion of

9.2 per cent in 2021-22 after contracting in 2020-21. This implies that

(1) Overall economic activity has recovered past the pre-pandemic levels.

(2) Almost all indicators show that the economic impact of the “second wave” in Q1 was much
smaller than full lockdown phase in 2020-21.

(3) The impact on health sector was not severe during first wave.

(4) (1) and (2)

¥ 2039-3 A YRAIAIS DU I &5 AT BHANT RS ?

q) ol enfor Fou & Q) SN (WTUThTH ATIOT Fierpry eneT) &

3) Sar &7 ¥) N T4

In the year 2021-22, which productive sector of India will show the better performance ?

1) Agriculture and allied sectors 2) Industry {including mining and construction)
3) Service sector 4) All the above

aY 2039-32 LY TRUT IJUUNT ¥% 7 A1 3T ST 38 BRT,

) TPRA GITT —PSS IR TNEH

R) PRAT FEHRIGH PraMve R R Higas Ml siiie

3) %< JAM0T ar Al 2039-3 H UAGRHDBRAT T

8) e [d

Total consumption is estimated to grow by 7 per cent in 2021-22 because of
1) Significant contributions from government spending

2) Gross Fixed Capital Formation exceeded pre-pandemic levels

3) Exports of both goods and services have been exceptionally strong
4) All the above
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() fAsm= 9 T34 & (9Y4)

3) M= fase nfor|anes /9
28) HForE

Y) HifdpeE /9

g) TAARH /9

V) TASTT

) 3R]

%) SigaFsT

30) Bl 30T 3ET TASTT
39) 3 dFsiT

3?) ST

33) amor

38) [fereor

Joies SR T ¥. 3. 9 T Y <t IR .
RGeS 3T S foxies 7l SRTGT FrHIdesdur srifufe e, FeUT e WGRA ShIRIPR! oxe. e 7
IGHYUST AU TS ST AT AT ST Jeidi+1 Ecfes]. YT AR T GG UIpIGRIh &% BRI, HRUT
RATURY S SO T A FIPRT DPRUMAT Fa el URoved] (Geeaererd g gIaxl Ushl ST Bil.
g, IART FHSTIERISTE StTeg FHT0T BIogTe e ol STTel. R %o UTEUITIT IuIcTel HTORATeST
Il SR FBRIET SHTe SR,

faeT= U Shae U AT Fad SRAAY. DIV F1 DI aiciv< Rigid Nplad PledT Sid
fohar TaTer =1 dhosedT TARTIRAT YRR SIS SiUe] ST T96 a3 Hed RIgid (90 T ATUrRT ATe1
ST ATEY. fae ST J<ure AMHLiss, Taid HiSasaRd ATHIge ST LT Feed i, amhe Facad
HIY FURIA RIS R RIS dSiIe g Dbl AR Sia J IR B, sede 39 qaeiaredrd b
PRUMT Blege- a1 e IR R Uide diTe geaedieds (HRIEPIRPIY) TaR $o. AT M
o AT IO SAIEH SR fepalrel FRIe e, el e ARARICH el ARG Sla-ged!
He HUIRNIG UIGas, 3TN I NUfee Heplford ey, I ANIEH §oced SHHTg =T AaMaTgIeRIue
el g TepIRRIT e Bld, NG Yo A=AISA! A egiRe AT ST Had el AN
UfEeIqT ThIRId RUTITST TG 81T SUATdT hed=l qar- Ad 378, 3Gl ~gedoTel ¥ad:d Yy FgsTRigett
TIN5 T Aegd. Jodda U FchaRIeaT Ul suds Sdudrel & gt e Jr Sies et
HTcsh! WTSRIT SRIeI™ e o3 d [Mffdi=ar  urdeslerd! Uce, SuRg g HehaRIaT W8 ReT Sl

Read the following passage and answer the questions 1 to 5.

Galileo did not excel in the skill of preparing or reconstructing star-charts. However, he focused
his binoculars towards the skies and offered a natural explanation of what could be seen. This is what
made his astronomy revolutionary. The result was that man disappeared from the moon and was replaced
by mountains. However, eventually his astronomy became dangerous, because it shock the premises
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about the world which were so taken for granted by the powerful classes and the church which served
them. This could potentially challenge the entire social structure. Any person who dared to do this, had
to accept the risk therein.

Science is not just a collection of experimental information. Any given experiment is not
considered as great, unless it offers a conclusive solution to a controversial theory. Similarly, unless it
offers a plausible explanation to perplexing experimental data; or it helps predict the conclusions of an
experiment which has not yet been done, the said theory is not considered as a great leap forward. If
one wishes to see the tight- knit interrelationships between science and production; between the
ascendance of new capitalism and the era of local discoveries, one has to study the trajectories along
which the center of science in Europe has shifted. Leeuwenhoek, a gatekeeper in Delft, sharpened the
lens he was using and created the first good microscope out of it. He used it to observe droplets of
water and the small microbes therein. The Royal Society of London sent its secretary to meet
Leeuwenhoek, and published his research articles. This very society had earlier published Ready’s writings
against the school of ‘Arbitrary Creation’, which eventually helped to solve the very real problem of
food-stock. The idea of giving the credit of an invention to its first author is a comparatively new idea.
Even Newton was averse to the idea of bringing his inventions into the limelight. The tendency of
hiding valuable secrets in the form of monopoly is even more deep rooted as one travels back in the
past. The process changes because of the social nature of production, however, the tools of production
are privately owned and hence, patents, guilds and monopoly are insisted upon at the level of technique

and production.

q) I IR JeiBdeh! DivR faum Ffdauor s_ar ad 7
q) SeTmthes Jae AR SeaIeard B PRUTT Sla-ada AMYFEe YebrRId bes TTEkd
Q) T & AT AThN R I
3) fasrmra wrifies Afacitar da =
8) TRhQRIE! PHeul SYFD 37T,
1)  Which of the following statements holds true according to the passage ?
1) Royal Society of London refused to publish the research articles written by a gatekeeper
named Leeuwenhoek
2) Church served the powerful classes
3) Science does not include a store of experimental information

4) The idea of copyright is modern

) I IAITIER UYCC g AhERIAT 3T URST STl HROT
q) fasTIT SR 8T A AR
Q) ST ATHH WISHIT ATShIE SRAaTd
3) IS ARIRIS UeedT HIRIdT <.
8) AT Pl UISUN=AT Hifgeid TaEiaur e,
2)  According to the passage, patent and copyright are insisted upon because
1) One cannot take any risk in science
2) Tools of production are privately owned
3) Royal Society approves the patents
4) They offer an explanation for perplexing data
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3) ORGPl HAAR wErer Rigid ey Hgwarar st g Sar ?
9) g urRNfiie Arfeder e T R) TR ITHH g Tged.
3) VT DI ITSUITAT ATfeie TUeIevoT fesd. ¥) ar IS ARSI T gl
3) Whenis a theory considered as very important, according to the author ?
1) It does not contain experimental data 2) It changes the centre of science
3) It offers an explanation to perplexing data 4) It is accepted in the Royal Society

g) Tfefedi WMGIRT HPICRID Bl 36 SIS ?

q) ST SFHPST Hisdl Ad T
& ) IRAT PRSI Igesar HIU TR S

3) AN wHIfae i oo

) FATIRY G eI ERSTIT STl HeU-HT AT FIexT S¥eT.
4)  Why did the astronomy of Galileo become dangerous ?

1) He could not prepare star charts

2) His observations were responsible for disappearance of man from the moon
3) He offered a natural interpretation

4) He challenged the axioms about the world which the powerful took for granted

Y) T IAIGAR SIaTgp PRI PbS3 ?

) IRFIT [PSAURET 3FAAS] ST R) vafed AHNIIaRS] UIees .

3) IR SR RAgia JisaT ®) T AR SR favsarie fARteror e
5)  According to this passage, what did Leeuwenhoek do ?

1) He created a focd reserve out of small microbes

2) He supported the established social system

3) He proposed the theory of arbitrary creation

4) He sharpened the lens and observed small microbes

WIS SART AT F. . § o ¥. 3. 90 A IR .

Aicd 31l IUSR 37Ted Sit f[Agd Foic] AiD Foid BUKIRT PRA. JBd: HIesd DRI SAHRAT I
TR T[ETeSleR Y ROTAT Uie IR o fOhRd. IREHT UTTST aTal Suh=unelt Sig SWwh AT Bri
e TS . AT IR Gl &I R SRATHT, TGHUIR Yehiy Hag, Jelesldl Ueb faggemep IRk
TR ; g URT fRIames, feididiss faelamarg aHt axuamet BrRi . SR 3R 3113 ATe! a7, Swere fmma
SHE Blse. UM gUM 9T decd™ HIER! fElame aRHTNG are gid (ATaRT fAg[diHe 8 aenid Um
faRIaHe SeifavarTe! aTRST STdl, S GRacT $oe! [Agd Harg HH! axal) fRladare RavaRIs! el
faR[ae™ qRaeT &1 fagdeme 3nfor araRt fR[aHe JreaTcies ThRepreal SRR SR, ftheul=T deiedTdiss
frercvaTe ATfies I Fifed S,

STcgT Al AT, hos! ST, dIeg] TOaT ST DIvRial HTHR! Al -, 31eTacs! HaTg WY HIoT SRl
HRUT AN Trch JeToadTed] HiTpRM FAfeT JRTal. deies e SHedrar, IR AR fageme Sr] fRlacmere
foRTer &=l 3T deiemels fofavaTg aHt gidl. AT VR aTeed™T HICR Helad. Tes ATaRT fAg[dHe HH!

. & TR feamerde e, deeands fREdvars aedd il e aTer fgaeETie AdmRgT
3P IRh XIS arad.
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I PRURE HICR & BRUIAS! 3T o ATSIUARATS!, Frord ! AATRc goadTial SR ARG
SR 378, SR AICRST WR-aREId Areaudrd! Rl 3c dR JTaR! e[ fcRid Sl ST ENumes
BIUTRY Ford! T T DIQUINIS! fagfdvarg vl aval.

SR 9 SR AR ST AR I Byl IR ot thes erehd ATel. e ATaRT [REaiHeren BraaRao
AR GRRAE YIhIqRIpYYl 39 fAg[dudTg 8hss ahdl. a1 AR (FRIRUT F hedRT 3TN BIg. 21eh.

Read the following passage and answer the questions from 6 to 10.

Motors are devices that convert electrical energy to mechanical energy. Essentially,a motor is a
generator operating in reverse. Instead of generating a current by rotatinga loop, a current supplied to
the loop causes it to rotate. Useful mechanical work canbe done by attaching the rotating armature to
some external device. However, as theloop rotates in a magnetic field, the changing magnetic flux
induces an emf in theloop; this induced emf always acts to reduce the current in the loop. If this were
notthe case, Lenz’s law would be violated. The back emf increases in magnitude as therotational speed
of the armature increases. (The phrase back emf is used to indicatean emf that tends to reduce the
supplied current.) Because the voltage available tosupply current equals the difference between the
supply voltage and the back emf,the current in the rotating coil is limited by the back emf.

When a motor is turned on, there is initially no back emtf: thus, the current isvery large because it
1s limited only by the resistance of the coils. As the coils begin to~ rotate, the induced back emf
opposes the applied voltage, and the current in the coilis reduced. If the mechanical load increases, the
motor slows down; this causes theback emf to decrease. This reduction in the back emf increases the
current in the coils and therefore also increases the power needed from the external voltage source.

For this reason, the power requirements for starting a motor and for runningit are greater for
heavy load than for light ones. If the motor is allowed to run underno mechanical load, the back emf
reduces the current to a value just large enough toovercome energy losses due to internal energy and
friction.If a very heavy load jams the motor so that it cannot rotate, the lack of a backemf can lead to

dangerously high current in the motor’s wire. If the problem is notcorrected, a fire could result.

) AR fgdeert qfie $ sEd 2
9) el e fgeware i g ?) Terebtest fagevraTe gRfar

3) ge & FEi ol %) TR Sl R

6) What is the role of a battery for a motor ?
1) To generate a current by rotating a loop 2) To supply current to the loop
3) To generate a magnetic field 4) To supply mechanical energy

V) AW AER! E[HE™ 78w P AR ?
q) IS HICIAT 9T areal Q) IR Hiewwdte fagavarg &+ grar

3) T SWIH Tie HRf fmir e %) ATges Aiewar died uRee Ht gl

7)  Why is back emf important in a motor ?
1) It increases the speed of the motor 2) It reduces the current in the motor
3) It generates useful mechanical work 4) It reduces the torque of the motor
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¢) IR TG, HedTR fagavarg oariis! gy AleT & RTal 7

q) BRU AHR fSERTHD GY AT Sl R) PR TS R QI SR SRl

3) PRUT AT AR WY SR SAcl! ) PHROT AT ST ATERY fAgamme .
8)  Why is the current initially very large when a motor is turned on ?

1) Because the back emf is very strong

2) Because the mechanical load is very heavy

3) Because the resistance of the coils is very high

4) Because there is initially no back emf

R)  Siegl ARRIdS I R ared!, gl ATaR! fagfdm e & gid ?

q) O A ?) o ared

3) A e Ed ¥) T HIcdR Plaal uRumT B e
9)  What happens to the back emf, when the mechanical load on the motor increases ?

1) It remains the same 2) Tt increases

3) It decreases 4) It has no effect on the motor

90) MG AR JfIRT IR Thed™ BRI 8Re ?
q) AERT fAgaTEe  aed
Q) HieR EHFITO Tes, JTed
3) ATAR} fAe AT HHAROS UGS 9 fAgd aTg g1 aaal
¥) HIeR M PO TFda.
10) What can happen if a heavy load is given on a running motor ?
1) The back emf increases

2) The motor continues to operate normally
3) The lack of back emf can lead to dangerously high current

4) The motor stops working

% WIS SART AT T. 3. 99 T H. . 94 < SR g

qUST P FIIHE BIed (C), gIgeA (H) ST SHifadsH (O) SRIAw, Preived 3iitied g
(N), 83/ (X = CL, Br, I) 3. SRICI. ebrei=il giTicl S0 eyt 98’ - 3Ry S2ifded Sefral. $a1. CH,,
e Teh gRIgT STl BIeTHe) U Aghgst 99 3/dl. (Structure of methane)

Pl TARHATEST fopaTees e (ST o] fohar STufEr e &1 wmeT fafere qurent ueM owar)
ATIFILRE UM, Sl foparees e grgiasdiss, - O - H 31T e g 3iedlel® (R-O-H) 51 - R &1
3e5ep1se TC 318 (- R=C H, ) PEite harede e >C = O qF ARG SR

H H H

(i) srfesgsfesd ﬂE_é=03ﬂﬁT@TW§ﬁ€E€o [H—é=%ﬂrk —r|:=o'1 TgUTdTd, 3TTfor

. . I
(ii) Sieifrp T, >C = O M AT FYMST dieH Ry —C = R, where R; = R, or R, # Ry) 3R7
OH

w.aﬂﬁﬁawmmwww—éza,wmwwgﬁaﬁw
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oH oH
aﬁw@ma@a&ﬂﬁ%ﬁwm—é=nm R—r!‘,=r::-J TEUIAI., PIEIITc5h 3T ST Seehlales
o
e Aed H, SO, =1 |uebic I-Arifies SAfHfcha 8o Tvex TR &, W‘éﬁr_{l}l_o_ [EDIRICRI
ST TG fAfRIE qUred FeM Rl A HEATUROT
i i |

(H—C —OR or R—C —OR, where R= R, or R# R,) 31 3Rcl.

o " O H

AT U TR bR SR Sal. e, (_{LJ_O_;@%[ 3da), fosfus ( __(I:!_I!;_

3RIATT) 3. SRIAN. ST T ASiiared] FRe-Tal HAT S/ did, 37for o fafder aRiRe sif¥fohaied wmr g1 oa
SR, FEUISTd DI GG, GRS Uich U 94, ST Uheh QM 4, RIS Wb o S8 3TT0T Shre
Theh IR §¢ GIR R

SR} Ppreigep FETH T CxlH50),, TR0 BT 1o R TRl M-I G5l o Ul iarglart

stfeegrgs (fdhar HicH) sraam. Sa CgH 506, T TR @it fdhar paeist fohal Tedraeist 3. &
TR U R A ATal. FULTd ] HIAIRTSS FguIdTd. SRRIRISS Jal. C4Hy501 1, geplord S
JUECT (Th HoO aT0%) B QM HHIRIISS Ui il M pareiet fiesdTd. SrRianigs 3.
CgHapC 15, XHHISH SISRI 38T (GH HpQ aTaR) 83 o AMRIRISS FeUISid W5eIst, Tedracis,
31T parcior Ul Teh Tehdh firesara. difesdanise Sar.lCeH 1005y, T ST JTaeT 2res Tadpiord!
qUd Teheh TIR Il

ST AFRIdNTSSR U 3ifcegissid ThalcHe e 3TAdl TS 3leeiNT FguIdid, 3T <l A& ddc
3T 7 T, Sal. JAeT CgH 06, TRa SUME T el e fehaesien 11 SRAd 1T e ST FgurdTe, 3T
T HIEreal AdrdT e ‘Ao F PR, & AT T A RIRISSTAT WHE SRSl Ple Ul
TR VR gRacH gl &l HA CgH g0 T 1 Slceieasin 3/ G6l o]

CHO
|
Hi— € — {H
|
HO—-C —H CHO

| |
H— C —OH OR (HO— C — H),

H— C—OH CH,OH
| AT T
CH,OH

Herereit He
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oI S JTesIST, 30T theh ST ATAET e ‘3o’ gid el d foeRISEgRs 3. T Th
PR g, fdha v SRIAMIRT e 310 (ST BT TV NTeTeoT Hhgeaiied U fohar arufeam fafder mer
STISBAT 3R 3R, Teh DRIRG g SAUIR 0] A fRUdiedT Te ST SuTd Sieeard SRIdw ST i
THHPTT Y g R ST AT SUOT UHT ST, &1 SHisiciies Icdeh Ififeifrefid, U Yo Heprer ARer
g gur faog T assadid / IRae adld.

H O
e
C/
|
HO - C*— H
|
CH,OH

frerEedieEe

g TR heh SATT BleH! G XUHLT BRRS e e 31ITa Pl Al ceifddrd. smaur 1
U 3fer HfefelUd Fear 2a (Siegl n = BRRS el T JUHHUIe HReT) S XU ARE G
RO el AR ARG FRUI. SR ARG fafder febarcres e Srqum=aT fiharedes e FaRglt afor
&1 geT fShdTeHe TIe FHREEIl FgUrdId.

Read the following passage and answer the questions 11 to 15.

Many organic compounds contain carbon (C), hydrogen (H), oxygen (O); and some of them also
have additional elements such as nitrogen (N), halogens(X= Cl, Br, I) etc. The bond/s between the
atoms in organic compounds are covalent,and are indicated by a ‘-’; eg. in methane, CH,, each hydrogen
and carbon has a single covalent bond.

Organic chemistry is also called the chemistry of functional groups (anatom or group of atoms
that confers specific characteristics to that compound)eg. the functional group (FG) is hydroxyl, — O
— H and the compounds formedare alcohols (R-O-H) where — R is alkyl group (—R is — CoHpnip
and 1’ is the number of carbon atoms). The FG carbonyl > C = O has two arrangements;

H H H
|
(i) aldehydic, — € = @ the compound is aldehyde {H—C = i or R —(I.‘. = Q) and

'8
(11) ketonic, >C = O and the compound is ketone (R, _n!flg =R, where R, =R,orR, #R,). The
OH

combination of carbonyl group with hydroxyl group gives -=C = (& i.e. carboxyl functional group,

?H OH

and the compounds formed are carboxylic acids {(H —€ == 0 and R —C =0} Carboxylic acids
react with alcohols in presence of concentrated H,SO, yields esters, whose general formula is

o 0 B
H— (|3| _ORor R — 1‘,': — OR,where R =R, or R#Ry)- The characteristic properties of esters are
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o -
!

because of —& — O — functional group. Bodies of living organisms contain large number of differ-
Q H fﬁ

ent biomolecules eg. carbohydrates, proteins (contain — C — N —), lipids (contain —C — 0 —)

etc. which constitute their structure, and are alse part of various physiological processes taking place
in them. Thus, hydrogen forms only one, oxygen forms only two, nitrogen forms only three, and carbon
forms only four covalent bonds.

Though most of carbohydrates are represented by a general formula CX(Hzo)yi.e. hydrates of
carbon, they are chemically polyhydroxy aldehydes (or ketones)eg. C .H ,O, is either glucose or fruc-
tose or galactose. They cannot be hydrolyzedfurther, hence are called monosaccharides. Disaccharides
eg. sucrose, C _H, O, , on hydrolysis (using one H,O) yields two molecules of monosaccharides:

272271

glucoseand fructose. Trisaccharides eg. raffinose, C, .H, O, , on hydrolysis (using two H,O)yields three

monosaccharides one unit of each: glucose, fructose and galactose.Polysaccharide eg. starch, (CH, O,)_
is a common ingredient of food grain, onhydrolysis yields a very large number of units of glucose.
Monosaccharide with an aldehydic carbonyl group is called aldose, and theirnames will have
suffix ‘ose’ eg. Mannose, C H, O,, While that with a ketoniccarbonyl group is called ketose, and their
some names end with ‘ulose’. These namesare further modified in accordance with the total number of

carbon atoms in themonosaccharide eg. Mannose, C H ,O, can also be called aldohexose.

CHO
|
HO - C — H
I
Hbl = & =1 CHO

| |
H—C—O0H OR  (HO— C — H),
| |
H—- C —0OH CH,OH
|

CH,OH Structure of mannose

The smallest aldose, and the only one whose name does not end in “ose”, is glyceraldehyde. It has
a chiral center or has an asymmetric carbon* atom (a carbon atom bonded to four different atoms or
groups). A molecule with a chiral center has a pair of enantiomers which are related to each other as
object and its mirror image. Each isomer of this pair rotates the plane polarized light in equal magni-
tude but in opposite directions.

\cf?
|
HO — C~— H

I
CH,OH

Glyreraldehyde

TERTE AU AR HaT b GIURIET 2038,/ 40



For Private Circulation Only

This property (optical activity) is shown only by those organic compounds whichhave a chiral

center. One can arrive at the number of optical isomers using therelation 2", where n is the number of
chiral centers. The molecules having the samemolecular formula but different structures are called
isomers. If the isomers carrydifferent functional groups, they are called functional isomers, and the
phenomenonis called functional isomerism.

CHy

. |
99) FFTH _C — OH TN C4(H,0);

1)

I?)

12)

C — OH
i
O
9) SCSICRINT, Udh HEICH NTg. R) SHERIZIAT TRINT, U PIEICH 3R.
3) fhcicrINT, T Pleicd 3. ¥) Ueh Ppraiaep ATal.
CH,

|
The compound iy __ ¢ . QH 1.e. C3(H,0);5

Cc— OH

|

O
1) Aldotriose, a carbohydrate 2) Dihydroxy triose, a carbohydrate
3) Ketotriose, a carbohydrate 4) Not a carbohydrate

g Selty uEed (A B are) AT IR dhet IRIAT Teb Tefeblol Uehdh, b PHag i
Teheh ST G etdrelsl Uehdh JIR BIAI, o ‘81 o NI ... g ITe.

) CQ4H44029 R) C24H48024 3) CE4H4QDQI 8) CpaHagOso

The compound ‘A’ undergoes hydrolysis (Using three H,0) under appropriate conditions to form
a unit of glucose, a unit of fructose and two units of galactose. The molecular formula of the
compound ‘A’is

1) CQ4H44029 2) CE4H48024 3) C24H4?DQI 4) CaaHagOng
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CH,OH
|
C=0

I
(HO— C — H)y & W7 ... 33 afr ane s ... Ser am.
|

CH,0H

q) fcearst, 8 R) fcRad, ¢ 3) ScelRaN, 8 8) SeeigadN, ¢
CHQOH
|
C =0
I

The compound {HO — C — H) 35188 and........... has pairs of optical isomers.
|
CH,0H

1) Ketohexose, 4 2) Ketohexose, 8 3) Aldohexose, 4 4) Aldohexose, 8

GTciiedeh! DIV qaRy T 31 A7 '3 2T IS TP 3T ?
a L
CH,OH N—c =0

| |
C|2=O (HO — ¢ — 1),

|
(HD—(F:— Hj, CH,O11

CH,OH

9) 31 3for 3 B teh TpHBT UfifS i 3MMRd.

Q) 31 3MfOr 5 Bt Uoeh YA fohaTeHes T TR 3MTed.

3) 31 a”fr 3 & vt ufifefawsia anfr forarcres e aeRglt e,

8) aF 3T 3 & vl R et enfor R e AeRpie! .

Which of the following option is correct about compounds A and B ?

A B
CH,OH H—C =0
| |
*fzo (HO — ¢ — 1T,
|
(HD—(Fj— H)4 CH,O11

(CH,0OH

1) A and B are only optical isomers of each other
2) A and B are only functional isomers of each other
3) A and B are optical as well as functional isomers of each other

4) A and B are neither optical nor functional isomers of each other
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15)

34)
3%)
39)
3¢)
3R)
$0)

?Hs CHj
|
H—-C—O0OH H—C—Cl
| | |

| |

CH, H

A B C
EUIDIRCH S
9) Th A 3TfoT B ) % A 3nfor C 3) Weh B a1for C
Which of the following compounds will show optical activity ?

1 | Ox}‘. -
H—-tC —0H H—-C— Ul g

| | |

CH5 Clly CH, —C o©0H

| - |

CH, H

L B C
1) Only Aand B 2)Only Aand C 3)Only Band C

(8) Pell, Afecd d ARDID &

el JATOT il
AT STOT HHTST
et
Afcrepa, T SAfoT At
fchHcd
Rl
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Q) TR Jd

4) All of the above
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(2) FRIS 3fr SUST HTNT 3MThedT DI (90)

(9) SUSTH ST 3MThel= P (Y4)

%9) SIS YT 9
®) SUSI HINT ?
83) I AT 3
®9) IS AT ¥
®Y) SUST 9T 4

Read the following passage carefully and answer the Q. No. 1 to Q. No. 5.

On top of nuclear war, in the coming decades humankind will face a new existential threat that
hardly registered on the political radars in 1964 : ecological collapse. Humans are destabilising the
global biosphere on multiple fronts. We are taking more and more resources out of the environment,
while pumping back into it enormous quantities of waste and poison, thereby changing the composition
of the soil, the water and the atmosphere.

We are hardly even aware of the myriad ways in which we disrupt the delicate ecological balance
that has been shaped over millions of years. Consider, for example, the use of phosphorus as a fertiliser.
In small quantities it is an essential nutrient for the growth of plants. But in excessive amounts it
becomes toxic. Modern industrial farming is based on artificially fertilising the fields with plenty of
phosphorus, but the high-phosphorus run-off from the farms subsequently poisons rivers, lakes and
oceans, with a devastating impact on marine life. A farmer growing corn in lowa might thus inadvertently
kill fish in the Gulf of Mexico.

As aresult of such activities, habitats are degraded, animals and plants are becoming extinct, and
entire ecosystems such as the Australian Great Barrier Reef and the Amazon rainforest might be
destroyed. For thousands of years Homo sapiens behaved as an ecological serial killer; now it is morphing
into an ecological mass murderer. If we continue with our present course it will cause not just the
annihilation of a large percentage of all life forms, but it might also sap the foundations of human
civilisation.

Most threatening of all is the prospect of climate change. Humans have been around for hundreds
of thousands of years, and have survived numerous ice ages and warm spells. However, agriculture,
cities and complex societies have existed for no more than 10,000 years. During this period, known as
the Helocene, Earth’s climate has been relatively stable. Any deviation from Holocene standards will
present human societies with enormous challenges they never encountered before. It will be like conducting
an open-ended experiment on billions of human guinea pigs. Even if human civilisation eventually
adapts to the new conditions, who knows how many victims might perish in the process of adaptation.

1)  Which threat was not recofnized by global politicians during the second half of the 20" Century?
1) Nuclear war threat 2) Ecological destruction
3) Threat of degradation of human life 4) None of he above

2)  What is the reason of destructive effects on sea life, according to the passage ?
1) Use of artificial nutrients
2) Over use of natural resources
3) Excessive use of phosphorus in farming that gets washed into sea, rivers and make them
toxic.
4) Nuclear Testing
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Which of the following statements are true in the context of the given passage ?

a) Human beings fully know that they are causing ecological imbalance

b) During Holocene period, climate was stable

¢) Modern industrial farming is based on overuse of phosphorus

d) Amazon rain forest will not get destroyed irrespective of man’s disruptive activities.
Answer Options :

l)aandb 2)bandd 3)bandc 4) only b
Match the following.
A B

a) exist I) be faced with
b) enormous IT) large number of something
¢) encounter IIT) ncomplete destruction
d) annihilation IV) survive
e) myriad V) extremely large
Answer Options :

a b ¢ d e
) I I m v Vv
2) I o I I\
3) Iv VvV I 11
4) 1 m v I Vv

Choose the most appropriate option :

Modern man has turned into ............. , according to the writer.
1) guinea pig to do experiment on

2) an ecological mass murderer

3) an ecological serial killer

4) both an ecological serial killer and mass murderer

(2) HRISI YT 3MTherT DI (4)

RIS H1ST 9
RIS AINT 2
TRIST 99T 3
TRIST 99T %
TRIGT AT Y

TS SART AT T . 9 T Y A IR .
9TeC BT HIST RIS P, TAST STOT RIATTR! [N 3772, T Ple! e G AeHTd AT

PIE HOIGR 3IHT AT, T TR o AgH! AT ; TUT T 10T 0T, T WU FA3T o AT Sesepqul SATvrees. e
TEUNS § AR 916 TaTaR 31Ted. fSfRvamd, Siavard, STER aepeardrgeT at UabidTciies Ta FaeaToRia | Jiaor

SfeGETE TR PRA; YUT ATYT Sgih e AR HIS, YaNcra, ST fban e SR, AR HeTwel
SIS, RIS, vl T ' eTeceidies ' g fIQINUT STl ; 9o AT Uep S7eRT Qreqaddles Bhaal

TET 37T eh P Ahall, § IS JBIhs NI T AT FeLHeT M a3,
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T Al ol ATsht BIct 1. gy d-drsdE av. df #RI0! B diod. aared] F 37Rigut JAfor
3NTCH SAGETST. Bl T U 976 AMISHT oM. o Tgural “'apT 2 ' 'ofY IR W9 fqarRet 3Aat. ot epioraig! arary
WS T ' AT Prerel, I T 09T SRl 3l 1 2 H AR PR IR G (oTedT T aa
U7 YT JRTET STl el FAifed 3fTe Mo Il T Iavd el A, g ATado! Hesl SHI SAT0T
H BR SREEY B ST, BICIAT T ThIeRT U SRITded] AT RSeRid, SFWard, S 31for Scahe
STIOTR ¥os AMHTEe 318, JTET AT ATECDR Il SHITAT SRR BIUNST AR, hegl aRl, HATT IRt AT
1 2 SRAT e IR aeal. QT AR T SIS, IS Y ST, AT a1y HeT. R
P, HHPT FPRSAT. & B ? ' SR YU THEGT T R AR WA A0S,

SITUT =Yg aTuRal o ‘AT |’ g ApagelHl Al DIl IGIR ATedl; U0 SR WieR faaR $al R al
feqar forcTent Aivaw ATEl. TS BaTS 3T, € LI Adl. Dol Tt WG SRIad, PIoft 3 fohar sfdar argd
TRt ufcifehar faaRd, ioft Sdbra 1or Yehad, TR PIvit g UThiie] W1 GTosd. 37T 37907 FIe 01
SUad, YURT ST 3R dieades ‘arl’ Fgurd SRAdl. al ‘aT | o1 Sherel, TR, SUaT e st Jra
R HRal TR GERHAd], DA GSuR S arem focht arsTvlt Suedn arcd SR RIS T
3MIITST DHIGPTE TG TSN ST ‘aT |* Fgoror H7.

B ' gE ST WhIERl; URq YT SRR Ul AHEUIRT G, AAfD AHANIRIT STcdfih
FATIIIT, NI SAFCURIT A RIS Jeoawia fohelioR) IReaRfaRie! Hfcifshar a1 gepra Tarert
SR AUV Fehe IR IRAd!. 'IRaAT HFsiial Hhos Vo). & | BHIG Dol Ufsaeii-l war fegeft.” ar
RIS 'S ' PIgPRIG qrgadl ‘B 1 TG GRS faeR SRIAGH J HSl. Il S J e 1A
ISl ‘B | geed!, RIREPR drer ek adl. ‘B |’ 3Tl B ot gl T PRUR AT SRITO! ?
PRI PRI 2" AT ARS8 | ISR fhal SISURUNT SEDRT ST SHCHAT SRIl. 'S 1''8
| 1hER ST JATST | BT g0 A1t UIC SEeT IS, 8 Rl 9K, Mg Tewessdt Sogd afif
3R,

3R fopciiaR) TepTert ereq ‘&, X, B, ‘B gel T Hifcsehalds. A, AT QeQred] SERT SRISR FERT]
JEIAR, B J&H e, TR HId g LI B T8N, R A &1 37 FHSIURE ATl

q)  SHTe T e, ST ol Sedhe STt §os ‘@l 2 T UehT QIaId M0 3TR. BRYT
3T) ‘P 2 g AT TR AR WA SHUTCA™ ST 3R
§) ‘@1 ?' ot umer Bt FwEft SEE-UR FaFET eI e
®)'d ' IR TS IR
) ‘@1 ?' 91 YUl SATEThT HIST 3T
Tt SR
9) 37 Beh Q) T 311for s Heh 3) @ 37T 3T Beh g) P Uh

) IMYUT I eI A=A SARI Dl HRUITIATS ‘aT | 3T 91eg dTuRd; Yol dl Sal HAlodss g,
HRUL.
31) M AT FATT th IR @R HIG BUdehes AN
q) T FARING h BRI a1 &1 Jchdesl ARTSH, U & Iga™ Jrad gl A
&) STaeTrear Y TRIAT, TPl sle! His aTesuared] 31Saviiges ‘arl’ Fgur HHT Usd.
) APt ‘arl’ Digdrl IFIR dred ATal.
Tt S
9) 37 3T & Heh ) § 37T § Beh 3) 8 ¥h ¥) & Peh
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STTTcies Fafficiear gfgrariguld degr oRl, PIUTST axt ‘BT ' IRIT U9 fIaRIERTT aIeeT. HRo
37) I et FHivr BT & AESTuaITet
§) SAITHes | ST AIEDR ST BT 78U
%) R, eFya 3nf T IR g ATuSd Aegd U
) FABT YR DI, DA HAT TG FRRATT ¢ DBUITATS!
IR SR :
9) § Th RISR Q) 31 3T & SRR 3) 3T, P, 3 WK ¥) & I T SRS

B ' g g AT SR YIS ATEUIRT 318, PRI

37) A YR AT Shl, I a1 PdIhciiggadl df U Sl Hicsham TR,

) SMETATIRIT Paerudd 372 RER foRIeht srfean ufciforn md AmEce SRAdTd.
%) T et O NSvTaTe SRR SedaHYd FHfoT SSHT .

T) ML bl IFATT T Sl

g IR :
9) 3f SRR ) § N 3) & I § SRR ¥) g AT © SRR
WIS UG g AT ST eh FIUIR SRR I Siiea S

9Teg arffady
3) ‘Bl P’ TPIER i) fararor
CARIESCEIC] ii) BETSeC
®) ‘ar !’ iii) T&T 3mI
g) ‘E N, w8, Y iv) RER faReft wfdifshar SRR

V) TpTeRt Hifosapt

g SR :

@ @ @ @ 3
9 Gi) (v () G @)
)G Gv) O (v (i)
3) (i) () 3[D) (v) @Gv)
8) (v) (i) (i) @O W)
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(3) dfds T 3nfor faeeivuere &M (99)

feoiea arRR=Mae- Ao, fAshy Breor /2

frem anfor gfsare, R snfor qiads, fem anfor fsey /2

IR 3nfor uferare, aReveias fAsed Hreor /9

13ET7 SITOr FpeAiar FI, HIrareT SIfor BNy, [FErredy derdd] gearest
3o q ATt cawen, AMiE araelt, geET /9

TG

qefi7 3Ye 3nfor farg, T adh / 9

e fAfeech =ravft, fenfder/q

faecryur, fRofg aor, Ao WA /2

I JNTHCATIRI THAT/ 9

q) o arRRETSH AR, Ay Heo

IRETT qoe T GA-3Mh TR 3Rielel BHH Jigaar (Al) doe dlldel JMed. Jd A, ST A
G (Al) TosT SATed AT Tl FE GR&TT ITIPRIAT (SD)TH it gIvarirel i et
e,

Rl UM SMUR &RAT AV Yeleden! Ve debeiTel. ST gl

9) SD =T AEHTH BTARATST AR eiel eS0T JR&T Toel fohar Ga—3Afle TR M.

R) SD T ARt 0TS WieTfRd delel HIENTUT JR&T doel T Y- anfies TR e,

3) FTE! 9 - AP e TR SIerel AW SIIRITS! HiedATiad dhelel 3T,

8) Pral go- Ml TR S T eI BTN HIkTed dhetel Tal.

There are security experts, as well as ex-fraudsters, who are experts in artificial intelligence
(Al). All people who are experts in Al are invited to join the team of security designers (SD) by
one organization.

Select one of the following that can be logically inferred based on the statements above.

1) All who are encouraged to join the SD team are security experts or ex-fraudsters.

2) Some who are encouraged to join the SD team are not security experts or ex-fraudsters.

3) Some ex-fraudsters are encouraged to join the SD team.

4) Some ex-fraudsters are not encouraged to join SD team.

TehT QITCHie] SATITITeAT TeT e, STRIRIUIC! U I FRUMIT Selled ™Il vy Fgud g
QU7 TeIepl fopraTsTeesea TSI aqauaral Ul Bidell 3. HIST JERIER SaRIRieR 3Tq0e PRURI
I IR UeaTe. dIderdTciiel SpIMGRICAT FETel IR 31E Ut o odiel dl &R BRIa <l
grepeiict. SRR, TPl TEie HIGHT SERIEI PUIaR, F&d:al Thl QAT A1eR 4 d giFT 3Ihe]
FRANG] PRUTAT GEAT G QAT ERAIRG bedlegel SFfcieberal Rieal TRefl 3. Wy it
SPIMGRIFT Qg AN Heefd e Arepdl Tal. AT TERIE PU=TT PR T[0T JFeifeiep Mg AT dred
3RIET TR ITNCIE! o 3 S, T <eMmcliel R guiuul ROl [ 3ad.

T IRICIRT aRTeT GfchaTalell Hald ST GuodT HRUIRT Ueb Ty arst.

9) TS JIRRATYA Tl R FAUTST UTH axaTd O Uehleh! ehRf ahRUM=AT BIcaT QIaRIRIHT UTH Rl AUTR

AT,
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Q) STRATET AT FaRITEhgH BIVI=IT &R cTviiefl SIeue HRUITITS! SRITER SaTd UMY g fAvemer
THAg TS TR
3) TAA AT IR creviieft sTerue aRvaTeT ANt MU degl, dehlel Hgola Hdl Yosale IMerdId.

8) T aulf, TepT SERIE hYiTed] HIUC SRATYAT PR YV WRel TR, 3R AFTciIer Yepl ATl
BTG5l

A group of traders in a certain country has decided to take their whole taluka ‘offshore’ in protest

at the insignificant amounts of income tax paid by big businesses. An association of shopkeepers

from the town want to use the same controversial loopholes favoured by huge multinationals so

that they too can legally avoid this tax. One giant multinational, for example, has been branded

immoral for transferring profits out of the country and into the other countries, where they receive

favourable tax deals. But the shopkeepers of the town cannot have it both ways. If they believe it

1s immoral for these multinationals to avoid country tax, it is immoral for then, too. They should

continue to pay country tax in full.

Select one of the following, that if true, most weakens the above argument.

1) Small businesses acting alone cannot obtain the same tax breaks as the giant corporations

2) The only purpose of the protest is to pressure the government into tackling tax avoidance
by big business

3) Every time the government comes up with a way of tackling tax avoidance, lawyers simply find
anew loophole

4) One of the town traders found that last year he paid seven times more corporation tax than one

multinational company

?) faerm anfor gfehane, e anfr ftas, o™ snfor A

UepT SHaiforeh AT FATetepraT Al ¢ ISl U (oA Slgel dRudNest el <1 T

HT 3O SEgearedT fcere gHl S8 ST exaNaSIT YRATET Ueh AT HSTRIIeh sae] T Jgtar

IR ATAI™ PRal.”’

R R

a) WA |e femeff, sreame ST HHARARIIS! GRGIeR TRITRG BIUR S2ITed] oTsehs) AT
UCo UTgul SIHaRS 31T

b) GuHTETelt 3ifERAeh, SMATYO AR AT HRal ITal WU 3TFal Sic destiean dediq |d e,
3TEAS q HHAFIRAS! FRafiquor wrienesid SIS aal.

) Tt FHMT HTGT BoTaURATS! JTHTIT XA TR Pelel! TIRG, MR, {TST Or 3aviefht arrre
o IEEd! PTG BICHRITT SHATT AT,

d) 3 AR UADIAT SR Afqeaqul Siaeeieiiar SR _ul ey gId ANTS! FHHTT
T U0l PRUTR JUshH I S1eR JUshHIa el 3ATed.

gfft S :

9) a,b )b, ¢ 3)c,d 8)b,d
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A Director of educational institution claims : ‘instead of celebrating one day as Republic Day, we

constantly practice the ideals that made India a sovereign republic by guarantying the pledge of

justice, liberty, equality and fraternity’. Choose two facts that support the claim.

Facts :

a) Itis compulsory for all students, faculty and staff of the institution to watch televised display
of military might of the country.

b) We conduct regular workshops for all students, faculty and staff with the help of peace experts
to deal with the hatred in a non-violent and peaceful way.

c) We strictly implement the rules of dress, food, language and behavior towards others, which
are formulated by our organization to inculcate spirit of equality among all.

d) We have integrated activities that nurture the value ‘empathy’ into regular learning activities to
enable everyone in the organization to respect the diverse lifestyles of others.

Answer Options :

I)a,b 2)b, c 3)c,d 4)b,d

UMSET U e HifiepT 31e. Yepqr faRra, SRR it 3Mfor g5, IJRr=m w&m!, I ey

SRS ey oI AT SeaRTET FRIRe. < AT QeI TR UTRUaR i, ae-<a Hiifiass

e foRIEMM Acehies Fac:d $9aR RIS [ShY PleaT; 3o W-HfHT FREd Jdiel f[aaR Pl

TIegT Tl Fa HadTed $99R ST dRd SHTel. Plel ehl Fqa:<d] [IbRIF AN T :dhgd

ST ST IBH ST Wi G RaTd a= et Rehl Td: dheted] ST ST Sdeurran

Td Pl MUR IR, ITEDN, Faa-e] T Idotel, YU PRAM T SRR 37RcTea o1

HIIATATT ST FarE 3RT AoMelial g FHIdhes JARTcd ITael WD dgag Al

HT HEIE BT qelauiRT Fafd Ifd wi Feer.

9) fRA™ Hic R oRa Ta-ufcmT TIfdel T dR el AT SHI 3R,

Q) Tad:T fdfed urg FevTa Ted:eaT dfdrsedien My gl gl

3) STEHRI, TATAT STOT RTATSE FARTTAT SNV IcTeiedT Shl STYRT ST ST R A-HIGHSUUT
2T Aot NeTaa ST ¥ 2T ST J SA\hRUNTET ATETEd ST eh! [t SHae ST,

8) PR Al FId:dT [ABRT ¥ ARG SFeted] - d Hifd JAUrar HISuiiear STUR SR )
Il SR fger gfyem a St Jfaer Ram Fa:dt grar SRar.

Upanishads carry a weighty fable. Virochana, ruler of the Asuras and Indra, Lord of the Suras, both
once went to Brahma and asked him about God. They were told to look in the mirror. Looking at
his reflection Virochana instantly concluded that he is God; Indra while looking at his reflection
and spending longer time in contemplation, realised that God was all. Some persons measure
development by the amount and material things that they can consume; some persons measure
their worth by all that they can uplift and divinise. The difference is nothing less than that between
an egocentric existence, engulfed in its own gains, unhesitant to exploit, and an expansive one
that is creative in the highest sense of the world.

Select the most appropriate option that indicates central idea of the story.

1) If Virochana had thought carefully while looking at the self-image, he would have realized the
truth.

2) To see one’s own reflection is to discover one’s own characteristics.

3) Persons who are egotistical, selfish and involved in exploiting others for that purpose
live as ‘Asuras’, while those who deal with all others with open mind using their own
creativity and assist them in their own upliftment and deification live as ‘Suras’.

4) Some people measure their own development by the amount and material facilities that they
consume, while others measure their worth by uplifting others by providing abundant facilities

and divine pleasures.
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3) aRfRU anfor uferare, aR=veae Ay wen

15T (3eifer fiere), | (fofeat feie) &R (A7), aRs (SFITS fiele) AT WRe UITd SHRIAT 31T,

RFUTFET 37101 SaR STiavRicd HRYR THTUT 3R T g, oI, HATRISM, thiehsa ST diciersmd

gl WS SRIATd. AT 3 Behie Rl HURDIAT BRIl Had fHesd. e RIRTe efehlst

30T SGet I IR BT JH10T FRIF 2. T Uee H1aeh1el i SRIGHT T §RIST hled IeK ST

MRS HHT WS UIC WRegTd FHIU AT . TN ARIRIT JHTUT SRR SRTCATH0 FHRIET Job6ehe

2. TN BRICRARANS HBRNTET Ulhl BHI 8], Jchiclicl Pleivexicl PHI g, TEUe S

YFITTT 9R.4% HIEH 31f¥ie e, JpareaT f[IepRIa ATare aoR RN, HRe U cTdh 3RedM

AR TS IR SfchT ot WTT AT, AT fafdey derseaige 1Rs U IRR RIS Sugth

3TTed. T SRIAT &Rl Gfehalg Gl PRUR Uep el Sferd a2y Hael.

q) IEAT GEAd: dqiges, MM, Pg AN, R, SIS T FHG PROTAT 0T HReAIGT 3l warrea
TR AR Bl ATE.

R) AT g YO0 STl TR g—SHaRied, f31eh, it 8 TecRila SRIUIR Hgwarel Tadh ehiell e
ATEIT g TR} TS SUBRE Sic] 41107 E1gs TSI HfcTIReTh! el T JATfOT e
RN fRF=0T 3.

3) ST Raferames ¥ AT @1l SRl euchieal @TgM JATTSAIT el emishan Bid ATa! e ST
T QMYAE! AUSUIR ATE! AT rucred T Wi SN,

¥) SARY, ST, TSHINT, Hﬁvﬂﬁwmaﬁaﬁ#a@w diel, gY, |, W, 378l Ao, thed

SATGH TR hedl S SFeATeS g @MUl SURER T,

Rala (Ttalian Millet), Sava (Little Millet), Harik (Vargu), Varai (Barnyard Millet} are rich in amino
acids, fatty acids and other vitamins. T" hey contain minerals that are iron, calcium, magnesium,
phosphorus and potassium. These food components assist in the functioning of hormones in the
body. The amount of glucose and insulin produced in the body 1s controlled by them. Since their
digestion is slow, they stay in the stomach for a long time, so you get the satisfaction of being full
by eating less. They are high in lecithin which strengthens the nervous system. Its phytochemicals
reduce the risk of cancer. Blood cholesterol is reduced. Whole grains provide 12.5% more protein
than wheat. Sava is used in liver disorders. Since millets are gluten-free, they can be consumed by
people with gluten intolerance. In short, whole grains are useful for body health due to various
characteristics.

Choose the one most reasonable fact that would weaken the above argument if true.

1) South Indians whose food mainly consists of rice, nachani, kuttu chana, tur, udad do not suffer
from digestive problems.

2) If wheat is completely excluded from food, the person does not get B-vitamins, zinc,
bran, which are important elements along with gluten, and as a result, the beneficial
bacteria in the intestines are depleted and the immunity of the intestine increases
unbridled and rarely invites cancer,

3) People with congenital celiac sprue cannot digest gluten in their small intestine, so they have
to eat foods where gluten is not detectable.

4) Eating wheat is not inevitable as pulses, oil, milk, meat, fish, eggs, vegetables, fruits etc. are
consumed along with jowar, bajri, rajgira, nachani, kuttu grains.
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g) faer=r anfr gctran ARt, ufcures s for SR, famTe et ysdrevit

Y) 93 g HiSUTt SHEERAT, HFTHT ATavRt, Gt

TepT g aNTedId a, b, ¢, d, e, f MM g € AT AR 3Med. 'a’ M7 'f' g 'd' 371for 'g' =7 Sfaria amea.
'f' 31 'a' AT QT A2, 'e' BT ST e GfaivT HiHoTdes 3Rfeted 'c' =T STRall 31T 3110 'b' <27 ufeeser
3T, ek 'g' 3TOT 'f' g §F AR 'c' =T Ydall 3MTeal.

fetear arfedean Feuid gt A aRfetel AU Figer.

9) 'a’ 'f' 2 9N 'e' FRITRAT SRier 31mRd.

Q) 'e' TART & 'a' FARITAT UfeaHerrd 3TTe.

3) 'a' TARTET ¢’ AAITAT UfSemaTd 3Mg.

8) 'f' FART qATE T Haid Ydeld 3.

In a housing colony, there are seven towers a, b, ¢, d, e, fand g. ‘a’ and f are to the south of ‘d” and
‘g’ and 'f’ is to the east of 'a’. Tower ‘e’is to the north of ‘c’ that is situated near the south end
boundary of the colony and to the west of ‘b’. There are only two towers ‘g’ and f, to the east of
‘.

Select the statement that is always true with respect to given information.

1) Towers ‘a’ and 1’ are situated to the south of tower ‘e’.

2) Tower ‘¢’ must be to the west of tower ‘a’.

3) Tower ‘a’ must be to the west of tower “c.

4) Tower f” must be to the far east of the colony.

©) "efi= Sge anfdr R, K b

egl et alier St Sieith 81 sy g AT SRAURY QI e 3ilel.
T

a) wo foemeff wiem vl e,

b) 90 femeai=t wie qut defl ATE! FgUT o S0l a1 STl HAlel ATald.

c) STl Aretear faemeafdl dveam wRiam qul 7 HRUTIUET 4 : 9 7 SR 3.

)il Setean feneafeht wwen sriivl feneafuer « : 9 4 SR o1TR.

i IR :

9) a,b )b, c 3)a,d &) b, d

Identify two facts that prove conclusion : ‘Ten students failed the exam’ to be always true.
Facts :

a) 40 students passed the exam.

b) 10 students did not complete the exam and so neither passed nor failed.

¢) Number of students who failed outnumbered those who did not complete exam by 5: 1.
d) Number of students who passed outnumbered those who failed by 4 : 1.

Answer Options :
1)a,b 2)b, c 3)a,d 4)b,d
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¢) TIF [Rfeec =maoh, RenfAder

Stegl 31T, f8HT, RISTHT S1fT ST JHTAR IR IWIT BT <iegT, RISHT Faiel S 3R ufget It
RTEd TR oM fora=am TRrt A, Fofy Siegt <1 IR SR RIEaNd degl 3T Jaid g SRed ufgait
T e R 91 Fald Qlacd I U, @1 Qival AT ST AT S Adl. 8Tl S SrRAuRy
fRreamian e @8 echl FasT.

9) ST Q) Ryan=m 3) fomm ®) 3T

When Anna, Bina, Ciona and Diana stand by height in a row, Ciona being the shortest stands first
while Bina comes to the third position. However, when they stand by age, Anna being younger
stands first while Bina occupies extreme rear position. In both rows Diana remains at the second
position.

Select the person who is immediate younger than Bina.

1) Diana 2) Ciona 3) Bina 4) Anna

]) faeeiyur, Ay I, WH==AT ASa0

oY, QT 37O ar AT S SFTRTedT FHRIS A Jed FULT 9T Udfell g <Tciiel G aueh fepetl. o
IHI, Ulehl g Tleh! THEd TG 3Teel. PIh] AHER A Ao -TgH! @R dlefdlld, Uil FHgr Ad AR
~TgHita e Sleidra ST qichl THg! W Tew gHd SMefgruleier TR d Wie Siefdld. adiexT Wi
7 : Ht AR ST SR HIGA 8 i Jell MUl 7990 IR 5l Tueh STepet] SR, al HgHT TR ietdl.
ar et .

ar : H Al MUSITIAIS g Aegdl. Al awh e,

ar : AN IS T, a) Uiht FHgrT Hew AT

Iueh eheted! xhicl FIGeR HRURT 93T fraer.

9) & )

3)a 8) QST A A7 QU Wepi0T < eher

Mo, To and Vo who belong to three different communities, participated in a dancing competition
and one of them won the trophy. They belong to communities namely Koki, Poki and Toki. All
members of Koki community always make true statements, all members of Poki community
always make untrue statements and all members of Toki community always make true and untrue
statements alternatively. They made following statements when reporter asked them to comment.
Mo : If Vo had not disturbed me by laughing loudly while dancing I would have won the trophy. Vo
always speaks the truth. Vo is the winner.

Vo : I was not laughing to disturb Mo. To won the trophy.

To : Mo won the trophy. Vo is not the member of Poki community.

Select the option that indicates the person who won the trophy.

1) Mo 2) Vo

3) To 4) To and Mo have jointly won the trophy
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90) I THRIA TR
B #tfie A% gcsh A 7EY ot 31e. C Aefiet el ged A qe afled. D meficd Ude ged C qed 3ied
qor D AefieT gl Bich A HE ATEL. IT AT STUR Yeidl Uehl PIvrd faum s1era amg ?
9) C gfieT FIe g B T 37
) B gefile % gew C HEY 37
3) A TtficT d% gep B 3rar C T 3R
¥) I Tefict TP g 31 7 TEd.

Every element of B is an element of A. Some elements of C are elements of A.
Every element of D is an element of C but no element of D is an element of A.
Which of the following statements are impossible ?

1) Some element of C isin B

2) Every element of B is in C

3) Every element of A is either in B orin C

4) Every element of C is in A

HERTE AT AR HaT b QURIe 2038/ €38
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9) FEqT HilerdT

Q) IeHT-~gARS Rieh=~1 IS /9
3) faeg 3for T~

§) 5 quf FHIE FN)

¥ SATFOT ATferanT -2

4) THHARY ATFOr des T TATeIvft /2
§) didd HT araul

©) FUHIAT Frav]

Aichfores 1T/ PifST-fedifEn /9
Y, Ger I, aoT

TR / SO 15T
SGITIR T4 ~9

9) Fievy 37for Ae1vre wer

2) 37! Hilerr

3) orgef 7 I T
§) HH Ibcdal THE

) FPN, [T T BT
&) SITRAT-HIaHT, STer-Fiaar

9) R BIfesT; TR BT /9
¢) Sic T fagrar &4

§9) STTHATIR T3 -9

)

¢) 78S oo 3] e
90) T 3MfOT W FTater U2 /9

99) 379! HigHT
92) fFHrar oner g

93) @7 3Tl I [AYATIIHD T

€9) Y 3Mfor Hiferent
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24 29 28

27 | a2 | | 31

30 28

) 39 Q) 3R 3) R

¥) 33
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Select the logical number for empty box in the following arrangement.

24 29 28

27 E 22 31
30 28
1) 31 2) 39 3) 29 4) 33

€2) pH 3Tfor Hiferept
feeiear Tegsurdier ueT femgrear SmaTd! Sfua ufemr fHaer.

@O’ @

) [{CF R)

3)

Select the appropriate image for replacing the question mark in given relationship.

?
H (2 | [0l 3| )

UM € <1 Tl dep AT 3T f3uayigg dg ddh aTaRul I Riciell W fFasT.

g o 0«
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Study the logic used for constructing image X. Identify option which cannot be constructed along
with dots using similar logic.

ah
J o D

€3) Wichfcreh ¥NT/ PIfST-FhIfET

N

9)  T@T HaT FueHia, ‘hope to see you' T TPT “ re so na di’ 3N 378, ‘please come to see the

1)

)

party’ @7 G ‘fi ge na di ke zo’ 3T 3778, , ‘hope to come’ T Fax ‘di so ge’ 3I¥TT 3778 S “see
you the party’ @I T ‘re fi zo na’. 37T 3TE.

feaict Fab Fued! SRIRET ‘please see you'. IS RAT GG ST T 17T,

9) ke te gm ?) ba od ke 3)te ba ke §)su te ba

In a certain code language, ‘hope to see you’is coded as ‘ re so na di’, ‘please come to see the
party’ is coded as ‘fi ge na di ke zo’, ‘hope to come’ is coded as ‘di so ge’ and ‘see you the
party’is coded as ‘re fi zo na’.

Study the coding system used and select the appropriate code for ‘please see you'.

1) ke te gm 2) ba od ke 3) te ba ke 4) su te ba

§8) AR, o1, aiexoT
&£Y) TR / 3oy fosar

§£§) SMTPIER T3
el HicHd SRIAEATSHT HTST T SRI fAfder fOBI0NHT STSuI=T Ugqen Siiet 3118, Tepleiiel
IRPIIE IR T T HfCRoUT BRI : DR, Tod, I A, R1eT T Wes g, IR R
IgADPe HI AR Gerdl d )i Ul [SebIUTehg GERIchs SITUIRIIG! Staesdl HRT dTaRel ATgl. Siegl H
foTeUTehg PRSUDS Sl degl gHa Hell Filld |AeIhgd Sd SN U1 SR Joilhgd W@ helhs
ST PRSP STID 3R TR Al QIqT Wb halebgd SIId e 3R HISAT &M 3MTel AL

9) o )R 3) 3 8) 4
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1) My local park has a network of paths linking various locations, as shown in the below image. The
stars on the map represent five of the park’s landmarks : the fountain, lake, music gallery, sculpture
and play centre.

I often vary my routes and 1 do not always take the shortest route from one place to another while
walking around the garden. I have noticed that when I go from the sculpture to the fountain, I
always pass the music gallery, but that going from the lake to the play centre, I never pass the
fountain unless I pass the music gallery twice.

Select the number of stars on the diagram that can be identified from the given information.

1)o 2)2 3)3 4)5

V) ThATER T3H
9) '3 g IR Jpel STRIRT SN et Wiy Q! g8t .

?) 3) 8)

B

1)  Study transparent sheet ‘A’ and select its fold from given options.

YN
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etlet BIepIvll SIS STHARAT, Tl STofaR TS Hleld d <l Siig epIuft B/ebR et 3TTe. ATge Al

Q)
Breproft e o fRAURY gedr fieht armed. auifer B, G, R @ Y 3repd e, ferar, aret ooy faeer
T AfcRefid eRara. fSelear s a1 el el oo IR /3 iz gea /9 fae.
B v Y
2N
a b . C d e
) Weh a R) WheR b fobar ¢ 3) UhcR d fobell e ¥) Wb e
2)  Study the below triangular card. It is folded along lines and joined to make a pyramid. Given

below are top views of this pyramid. Alphabets B, G, R and Y represent colours blue, green, red
and yellow respectively. Select the odd top view/s of this pyramid from given options.

/N
A/
VNV V2V N

2) Either b or c 3) Eitherd ore 4) Only e

1) Only a
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(4) e AEIIcHD &l

SBTAT  BIIT — G SqUIH, §Vior, Tomrarehl, JUiars, YRR 30T FXeiaeer
THaR, MRTERY 311foT [aaupes, unR 3T wToT, rgest /2

B IO 3R, IeAMTST, IS AT STAvETg /2

1aght 3for @S], Faera, THT S dieT, e ST IO GHaIE RToT

Jo5 0T B, GIET, Gsies, Hoey, qTTIT FIT
FYTIT, RN - 79, 98, 118 /2

YA - &F%es, gT%as O GRIAT

A (IR AT, QT AT, AT ATl AT IR 3erd) /2

§¢) SR ieTed — eIl AYUIch, SRIST, ISTETht, UTBR, HRTIHR SAM0T ARARRIT

)

1)

Q)

2)

&%) THARI, HRTIGRY 3MOI AUy, JUIR 0T JHm0T, WREsst

TSI 3T g1 AT g SRavITATd! fHaletl Mard SHHd 8uard 3fel. d HieMT AdifieR gidr. gaft
R TATerd ST FeUT fehal AT FeU[T HGM et fohal WA hel ATa.

SIIEEACINIREISINE

"HAGH Pheledidhl C0% it HUTeR SRAUITT JTS HaaH el 3TN ‘TMe=aT ¢’ % Ui AaqRHT Mard
YTy ST JS[T A el ATEL.

eITeRy JRIVITIRIUIT SRFelel! Meiiel Siie AaqRidl Cerar] T,

q) THD 0% R) AP 4% 3) 0% UETSIRA  8) THD Y%

A referendum was held in the village Nimboli, to determine whether it should

have a library or not. All adult members could vote; all of them either voted in favour of having
library or voted against it, or did not vote at all. According to the local newspapers : ‘80% of
those who voted, voted in favour of having a library’ and ‘80% of the adult members of the village
did not vote for having library in village’

Select percentage of the adult members of the village voted against having a library.

1) Exactly 20% 2) Exactly 5% 3) More than 20% 4) Exactly 25%

foFT, Sfiar 9 ®Re JieiT Pral RepH algd Hdell. fBHTe 4/ ¢ fiesretl, Sfiarar 0.4 AT HreeT 9y vud
ficTet.

o5 e CAAUIRT waiy e,

) woo ?) §00 3) y4o 8) 840

Mina, Jiva and Faru share out a certain sum of money between them. Mina receives 5/8, Jiva

receives 0.25 and Faru receives Rs. 75.

Select options that indicates the original amount.
1) 700 2) 600 3) 550 4 4) 450

TERTE AU AR HaT GGeh GIURIET 2038,/ 90
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90) I 3O 3icR, YN, dic T SToTveTE

Ul febetiefiexen eridid SRS qamar Yo fiesHt fdhar qo AebaHl AT hefl. I gul SRR SR
Hdeiell 96 SRIAUIRT TR Fiaer.

q) 9¢o Hag ?) 9%0 Aeg 3) 00 Hag 8) 290 HAq

Ayesha beat Daya by 50 meters or 10 seconds in a kilometer race. Select the option that indicates

time taken by Ayesha to complete the race.
1) 180 seconds 2) 190 seconds 3) 200 seconds 4) 210 seconds

BT SRS HY ER Algel degl T 5l ¢ arfd 0 e & 9o grRaad gid. I WRel degl a9
g fife Hrea MUY FAFTT A9d! IGAEed bl i, foad aRTeled I dodel Faid Stacsal
T e

q) Herell AHeht 33 e smed Q) R 90. 1y fAfe e,

3) e 0 B amRa %) W afT QW A sl s,

When I left for work, the watch was showing a time 8 hrs and 27 minutes exactly. The position of
the hour hand and minute hand of this watch is
exactly interchanged when I was back home. Select the option that is closest

to new time displayed.
1) Exactly 33 minutes to six 2) 17.75 minutes to six
3) 27 minutes to six 4) 27 minutes past six

93) TUTICT, WRRR - 927, 79, 9IS

20 YA HeTURNAT TR dell 3fTe. T HeATl QM 3fciia Wi 3ATed. feiedn dd UeATdier e fpar
31feres UM STk QU faeealer e SRy ARt e .

1)3*-1 2) 3% 3) 31 4) 37

A question paper consist of 20 questions. There are 2 options for each question.

Select the number of ways it is possible for a student to attempt one or more questions of the all
given questions.

1)3%-1 2) 3% 3) 31 4) 3"

99 g1 FHAT Yo Hefall & UTdT DI d1G FHlell d ATes AT HIGHNS gTedl draret IR 94
o ag a1ef aTeett. a1 HRHTC T IRRRE 20 T AUIRIS! I AT ST RIdeT UTaT Hieul 3T
21 T AT SRIAUIRT TR .

9) 9% Q) Q00 3) R0 8) VO

While playing 1 1th match, a batsman is out for 26 runs, which raises his batting average for the
season from 15 to 16. Select the number of runs that he should have scored in this inning to raise

his average to 20 in this season.
1) 176 2) 200 3) 220 4) 70
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94) 3R (IR TS, T FTS, T 3Teid 30T IR 31T )

S Pgd TS : TR, IRIDI, S ol : G 9 g 93, SMM0T IRIbrd AISKileT 3778, AT SaeAredT Feid
fIeT STl PRISHIAT STUIR 3. UTel AIGAT Jeleld Qlel foad SURRId JMEUIR 3fed Wy
SRAETSAT 3178 3T UTehe ol ATl Ueh Qg ARIATsehisRIsR HITdUIR 37ed. Wiefiel forbieid & et

3.

1 TTam | 2 Raw
VL Tio ¥ 20
e 39 T 15
qaeq” %7 T 14
* 12 @A T 55 7|

atd ¥ fofhe WRE P SN Pea @I dholell I8 TS,

9) &3

Q) &

3) 19 Q) ©%

Das family members : husband, wife, two children : ages 7and 13, and mother of wife who is in
her sixties, are going to the science park programme this weekend. The parents will attend both
days with the elder child but Mrs. Das’s mother and the younger child will spend one day visiting
relatives. Ticket prices are listed in below table.

Select the amount spent by the Das family if they buy the cheapest tickets.

1 day 2 day
Adult T12 T 20
Child 29 % 15
Concession® X7 T 14
*Under 12 or over 33
1) 63 2) 69 3) 71 4) 74
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) AT AT AN INIABR T TIR PRI Mg ASHIIRIGU SIS T Pratal e detel ATal
W ATl el BT gE Riet gt R Hiex o & Hiex U, AT SRR 3Rie. Riar desarea
gl YT FfetedT Wielid a1 JMpdid qAdedTs Il 0.4 Hiex SIS Hifshed! He IR,
fRAUUT PROTRT 3fTerg fasT. 9
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2)  Nanu wants to create a rectangular pond in his field. He has not yet decided on the exact dimensions,
but its length will be twice its width and will be between 2 metres and 6 metres inclusive. There
will also be a strip of concrete of width 0.5 metres around the edges of the pond, as illustrated in
below diagram which is not to the scale.

Select the graph that best represents relation between the surface area of the pond and the area of

the concrete edge vary with the length of the pond.
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Decision making and problem solving questions no. 1 - 5.
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You are working as a head in the department that allots government quarters to the employees as

per the norms set up by the authorities. A group of persons approaches to your reporting senior

with the request that a particular person should not be allotted quarter in their building, because

the concerned person is from the reserved category. Your senior suggests indirectly to accept

their request but at the same time also warns that you will be solely responsible for the consequence

of the concerned decision. Your promotion is due in next few months. Which one of the following

course of actions is your choice in this situation ?

1) Since your promotion is due in next few months. You are left with no other choice but to
accept suggestion given by your senior officer.

2) Allot the quarter to the concerned employee as per rules and alert the person about the
situation in which you have taken the decision about allotment.

3) Narrate this situation to concerned employee and request her to wait till you get promotion.

4) Not take any action and keep on requesting the person that she has to wait for some more

time.
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As the education officer you are a member of the committee constituted for interviewing teachers
shortlisted for awards from the district. You are analyzing their documents related to teaching
learning processes and its impact on learners’ personal and social development. As you are going
through these documents you are designing probing questions related to their work. You cam
across a heavy file of technology savvy person but you did not find single documentation of
teaching learning process and its impact on the concerned group of learners. For example, this
teacher has written about how he delivered
e-self-learning material for learning poem Daffodils. You will ask him...
1) With what purpose did you design e-self-learning material and how did vou test outcome of
this learning ?
2) You must have learned many poems during your school and college education. What
purpose did this poem learning served in your personal and professional life ?
3) Apart from reading and listening what other activities or experiences did you design to make
learners their learning visible’ ?
4) What activities did you design to examine ‘impact of learning’ this poem on learners ?
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You are working for setting up a new business venture that requires a license from State government

regulatory department. You have submitted the application for this purpose after fulfilling all the

procedural formalities and the required documents. Months have passed after submitting the

application but you are yet to get license. This delay is causing loss of business opportunity than

the amount demanded by a chain of persons working in the department for granting the license.

Which way would you choose for sorting out this problem from following options ?

1) Patiently try to convince any senior officer in the department for granting the license as early
as possible hoping that he might not expect illegal gratification.

2) For starting the business without wasting the time you will pay the demanded amount as
business investment.

3) Use your contacts with any political worker to get the issue of license settled without paying
bribe.

4) Contact some RTT activist to get information about the time frame in which such license
are required to be issued.
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Your colleague who was heading a project is suffering from some ailment and cannot continue

with it at least for next two months. The administrative head of the department requested you to

head this project in addition to your present work. Since you are expected to complete your

assignment and this project within stipulated time, it will demand you to invest more time and

energy. What will be your response to this from the options given below ?

1) Since your present assignment is keeping you completely occupied, it is not possible for you
to accept this additional work.

2) Suggest the name of another colleague stating that she is more competent for this work
and her present workload is not heavy as yours.

3) Accept the additional work without any argument as timely completion of the project
is necessary.

4) You will accept the additional responsibility only if some manpower is provided at least for
some routine work.
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You are a freelancing journalist. Recently you read a novel based on documented sufferings and
exodus of people of minority tribe from certain region that happened more than two decades ago.
You are from this minority tribe. You are very well acquainted with the realities of the exodus and
the hardship faced by people of both the tribes. In your opinion the author has used her writing
skills to emphasize how cruel were the victimizers towards your tribe. Thus novel has succeeded
in getting sufferings of your tribe acknowledged by people from larger society. But you know
that this is only the half-truth and it 1s agonizing you. You will write articles to be published in
different media to present.

1) the position of the victims as sharply distinct from and as opposed to those of their victimizers
using selected authentic documents and gain empathy from society at large with propagation
stance.

2) fact that though minority tribe got displaced, all misplaced, majority tribe members were not
perpetrators and both tribes were misguided by their narrow minded leaders by using evidences
of selected documents.

3) fact that victimizers were also victims of daily hardship, tragedy, and hopelessness along with
the loss of rights and respect by using selected documents.

4) the reality by documenting how members of these two tribes are defining themselves
in relation to their respective narratives of victimhood after long period of more than
two decades for avoiding insurgence of hatred.
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